





LKRAFT

Since its establishment in year 2000, Airkraft continues to add-on its quality and productivity.

ABOUT US

With approximately 80% of products exported, Airkraft is now a well known and well respected brand
in more than 70 countries worldwide.

Choice of both OE companies and reputable aftermarket shelves, Airkraft guarantees its
processes and customer satisfaction by ISO TS 16949.

In order to provide sustainable quality and competitiveness at the same time, Airkraft
speeded up investments with SAP implementation and its own Calendar Line.

Both already completed, investments will improve organizational abilities, raw material

security and maneuverability.

Striving for the better product and the better service, Airkraft will not stop looking for ideas
and solutions.
CONVOLUTED AIRSPRINGS

Classified as single, double and triple, convoluted airsprings increasingly replace pneumatic
cylinders in the world industry.

With higher course length, compactness, ease of usage and low maintenance costs, convoluted
air springs offer the performance in lifting, compression, suspension and eliminating vibration both
under vehicles and machines.

As well as aftermarket customers, Airkraft proudly provides high quality convoluted airsprings
to local OEM brands since year 2000.

CABIN AIRSPRINGS

Used in the truck and tractors' cabin as four point suspension, the cabin airsprings provide much
more comfort in comparison to its preceeders, steel springs. Combining traditional shock absorbers with
air springs instead of coil springs, this hybrid solution to suspension significantly eliminates vibration.

Since 2000, Airkraft supplies cabin airsprings and sole sleeves to leading European shock absorber
producers.

SEAT AIRSPRINGS

Drivers' seat air springs provide a new breed of seat suspension, lowering fatigue, and health
risks frequently faced by drivers. Eliminates the vibration for the most important part of the truck, the
driver, and keeps the seat at an adjustable height at all times.

Besides supplying the aftermarket, Airkraft also supplies leading global seat producers.



LZKRAFT

CONVOLUTED AIRSPRINGS
COMPONENTS

l * L AirInlet
—_ Top Plate
Blind Nut
= Bellow
< Girdle Hoop
Bottom Plate
Bumper
by l l
—>
Bolt
Air Inlet
Top Plate
Clamp Ring
Girdle Hoop
Bellow >

Bottom Plate
Clamp Ring HARDWARE KEY - SYMBOLS
® Bold/ Stud

@ Blind Nuts

N () Air Inlet

Combination studs/air inlet (Combo Stud)

Cza

Blind Nut Bolt / Stud

——

Air Inlet Combination stud/air inlet
(Combo Stud)

Bead Plate Bead Plate

DN

Z | 2
| 4 Bead Plate Bead Plat
! TN J eal ate \7
| M Y 4




CKRAFT

PRODUCT ID AND TRACEABILITY

BARCODE

Barcoding system provides AIRKRAFT products a maximum traceability down to the raw material.Via
the barcode number on the label, it is possible to answer all questions regarding the product, until the
final customer.

Production Assembly Date \_

Order N0 <€—
0Old Reference @—————

Barcode Trancking Number <€

2B-320

Bellow Style

‘l Bellow Production
— Week / Year




2B - 220 —-

Figurative 2B-220
product drawing

Style of the bellow
used in product

—| Figurative top / bottom view [

A<—
N T

=

©

S

Previous reference “A” Mesaure
replaced by order no Distance
to center
Master sap Reference :l
to be used ir?transactions l AIR INLET
REFERENCE ORDERNO &
—
—
—
—
—
2B-220 References for
varying metal cambinations
Cross no section
& the item is adaptable to &
ADAPTABLE CROSS ADAPTABLE CROSS
NEKRAFT @5oLD/sTuD @) BLIND NUT COMBINATIONS STUD &ARINLET A E'ES,\T?E\'F?E 10

t

t

ISymbols used in the drawing I

t

4







STYLE

1 B = 1 2 O www.airkraft.com.tr

Top View Bottom View

@ 130 mm

I
7 77
ATRKRAFT 1B-120
T

65 mm

REFERENCEIORDER NO DESCRIPTION L ® )
112002 11101013 {Rubber bellow only ;
111001 11101001 iTop/bottom plate M8 (Blind nuts) Gl/4
\ i i P/
/Reference | Order No' ADAPTABLE CROSS Reference : Order No ! ADAPTABLE CROSS
112002 111101013 {CONTITECH  FS50-5 62242 111001 11101001 :FIRESTONE WOL M58 6140
{FIRESTONE FLEX 16 § \CONTITECH ~ FS505 61388
{ FIRESTONE W01 358 0010 i {WEFORMA WBE 150-E1
: : 'BOSCH 1915041000
| 5 i i J

NEKRAFT @-BoLD/sTuD @) BLIND NUT COMBINATIONS STUD X)AIR INLET



R
STYLE

www.airkraft.com.tr 1 B - 1 50

Top View Bottom View

@152 mm

90 mm

44 mm

(REFERENCEORDER NO DESCRIPTION B
112003 §11101014 iRubber bellow only
111002 11101002 iTop/bottom plate M8 (Blind nuts) Gl/4

111010 11101007 |

. .

/Reference | Order No ADAPTABLE CROSS Reference | Order No ADAPTABLE CROSS
112003 $11101014 : CONTITECH FS70-7 60512 111010 11101007
: | FIRESTONE FLEX 131 : :
: | FIRESTONE W01 358 0131
111002 : 11101002 | PHOENIX SP 1B 05
’  CONTITECH FS 70-7 2681 015 000
{ WEFORMA WBE 200-E1
{ BOSCH 822419002
{FESTO EB 165 65
NG i i i %

@B0LD/STUD @ BLIND NUT @ COMBINATIONS STUD AR INLET ALKRAFTHA



www.airkraft.com.tr

Top View Bottom View
2190 mm
7 £ ® ®
&%&&gk“\““‘-‘-‘-E §
BN
70/54/44mm 70/54/44mm
(REFERENCE (ORDER NO! DESCRIPTION ® L A )
112004  :11101015 :Rubber bellow only
111003 11101003 iTop/bottom plate M8 (Blind nuts),assembly axis 70mm G3/4 center
111005 11101005 iTop/bottom plate M8 (Blind nuts),assembly axis 70mm Gl1/4 center
111013 :11101008 :Top/bottom plate M8 (Blind nuts),assembly axis 54mm G4 i 26mm
111015 111101009 :
/Reference | Order No! ADAPTABLE CROSS Reference | Order No ! ADAPTABLE CROSS "\
112004 :11101015 : CONTITECH FS 120-9 60479 111005 511101005 'FIRESTONE W01 M58 6166
’  FIRESTONE FLEX 116 : { CONTITECH FS120-9 61358
: | FIRESTONE W01 358 0133 : DUNLOP(FR) 8"x1 508100
111003 :11101003 FIRESTONE W01 M58 6165 ' WEFORMA WBE 300-E2
' + CONTITECH FS120-9 2681 030 000 : *BOSCH 822419008
EDUNLOP(FR) 8"x1 S08101 111013 :11101008 EPHOENIX SP1B07
iWEFORMA WBE 300-E1 111015 511101009 ;
+BOSCH 822419003 : '
{ FESTO EB-215-80
: NORGREN PM/31081 (8"x1)
' DISTANCE TO
ANEDKRAFT @B0oLD/STUD @) BLIND NUT &) COMBINATIONS STUD &X)AIR INLET A CENTER



STYLE

www.airkraft.com.tr 1 B - 2 2 O

Top View Bottom View

@215 mm

]

AIRKRAFT 1B-220

I

111 mm

AL
89 mm
(REFERENCE (ORDER NO! DESCRIPTION 2 A
112005 | 11101016 :Rubber bellow only ; f
111004 11101004 iTop/bottom plate M8 (Blind nuts) G3/4 38,1mm
111006 11101006 iTop/bottom plate M8 (Blind nuts) Gl/4 44,4 mm
- i i 5 L
/Reference | Order No ADAPTABLE CROSS Reference | Order No ADAPTABLE CROSS
112005 $11101016 : CONTITECH FS 200-10 60319 111006 $11101006 :CONTITECH FS 200-10 60030
: {FIRESTONE FLEX 115 : : FIRESTONE W01 M58 6375
: \FIRESTONE W01 3580118 i {BOSCH 822419009
111004 11101004  FIRESTONE W01 M58 6374 i \WEFORMA WBE 400-E2 / 410-E1
’  CONTITECH FS20040 2681045000 : =
:DUNLOP(FR)  9"1/4x1 S09101
| WEFORMA WBE 400-E1
{BOSCH 822419004
FESTO EB-250-85
{ NORGREN PM/31091 (9"1/4x1)
NG i i i %

DISTANCE TO
@ 50LD/STUD @) BLIND NUT COMBINATIONS STUD AR INLET A CENTER ANRKRAFT



STYLE

2 2 O = 6 O www.airkraft.com.tr

Top View Bottom View

@220 mm

AIRKRAFT 220-60

%

186 mm

VﬁFERENCE EORDER NOE
112001 11101017 iRubber bellow only

111152 11101006 iTop/bottom plate M8 (17 mm Bolts)
111150 | 11101010 : Top/hottom plate M10 (Blind nuts)

DESCRIPTION 9 A

UANPT: 44,4mm
14NPT: 44,4 mm

/Reference | Order No! ADAPTABLE CROSS Reference | Order No ! ADAPTABLE CROSS "\
112001 :11101017 EGART T291/B 111152 511101006 'BMC 57RS306423
111150 $11101010 ;GART T291/B (291.1.170) : :
: : MERCEDES-ACTROS-TURKEY
DISTANCE TO

COMBINATIONS STUD &DARINLET A CENTER

ARKRAFT @BOLD/STUD @ BLINDNUT



STYLEE

2B - 150

www.airkraft.com.tr

Top View Bottom View

@152 mm

) ()
) 27
(REFERENCEORDERNO! DESCRIPTION C© )

114053 11120147 iRubber bellow only :

113070 11120031 Top side only clamp rings M210 (Bolts), Bottom side only clamp rings M8 (Nuts) .

113071 ;11120032 :Top plate M10 (Bolts), bottom plate M8 (Nuts) P G 12

113072  : 11120033 iTop/Bottom side only clamp rings M10 (Bolts)

113073 : 11120034 :Top/Bottom plate M10 (Bolts ) i G112

/ Refererce | Order No ADAPTABLE CROSS Reference : Order No ADAPTABLE CROSS

114053 111120147 :DUNLOP 6"x2 SP 917 113072 511120033 :DUNLOP 6"x2
113070 511120031 : DUNLOP 6"x2 113073 211120034 iDUNLOP 6"x2 SP 1482
113071 §11120032 ;DUNLOP DB 06219 ' ’

@:50LD/STUD @ BLIND NUT & COMBINATIONS STUD AR INLET ARKRAFTA



STYLE

2B-150

www.airkraft.com.tr

Top View Bottom View
@152 mm
th E&E
£
= j i @127 @127
(REFERENCE (ORDER NO! DESCRIPTION 2

114055 | 11120148 : Rubber bellow only :

113074 11120035 iTop plate M10 (Bolts),Bottom plate M8(Nuts) G1/2

113075 | 11120036 : Top/Bottom Plate M10 (Bolts) L G 12

/Reference | Order No' ADAPTABLE CROSS Reference | Order No ! ADAPTABLE CROSS

114055 $11120148 : DUNLOP 6"x2 113075 {11120036 iDUNLOP 6"x2
113074 $11120035 :DUNLOP 6"x2 : \ WEFORMA WBZ-G 210

: : PNEUMATIS DB 06219 { NORGREN M/31062 (6"x2)
NDKRAFT @-&oLD/sTUD @) BLIND NUT COMBINATIONS STUD X)AIR INLET



R
STYLE =

2B - 180

www.airkraft.com.tr

Top View Bottom View

@ 185 mm

I
AIRKRAFT 2B-180
i

T

196 mm

REFERENCE (ORDERNO! DESCRIPTION R

114052 11120173 iRubber bellow only :

113056 11120025 iTop/bottom plate M8 (blind nuts) Gl/4

113057 | 11120026 : Top/hottom plate M10 (blind nuts) Gl/4

\ /

/Reference | Order No' ADAPTABLE CROSS Reference | Order No ADAPTABLECROSS

114052 11120173 :FIRESTONE FLEX  26C ' '

: {GOODYEAR FLEX  579-92-3-530
113056 | 11120025 :
113057 111120026 |

G AIR INLET ARKRAFTE

@ -BoLD/sTUD @) BLIND NUT COMBINATIONS STUD



STYLE

2B-180

www.airkraft.com.tr

@ 185 mm

N

I
AIRKRAFT 2B-180

T
\\‘ 1

\_

196 mm

Top View

Bottom View

54 /70 mm

REFERENCE !ORDER NO DESCRIPTION ® 1 A )
114050 11120145 iRubber bellow only : .
113052 11120021 iTop/Bottom plate M8 (blind nuts), assembly axis 54mm Gl/4 26mm
113053 11120022 iTop/Bottom plate M8 (blind nuts), assembly axis 70mm G3/4 center
113054  :11120023 iTop/Bottom plate M8 (blind nuts), assembly axis 70mm G1/4 ' center
113067 111120029 | |
113068 11120080 |
- /
/Reference | Order No ADAPTABLE CROSS Reference | Order N ! ADAPTABLE CROSS
114050 11120145 CONTITECH 603N : : NORGREN PM/31082 (8"x2)
: : FIRESTONE FLEX 26 ;  TAURUS KF 218
iFIRESTONE W01 358 0142 113054 11120023 iFIRESTONE W01 M586353026B 0950275
: PIRELLI 26 : {CONTITECH  FD 120-17 61361
. PHOENIX 2BO7R : WEFORMA WBZ 300-E2
113052 11120021 {GOODYEART 2B 8-550 ; { BOSCH 822419062
PHOENIX SP 2B 07R 113067 11120029 FIRESTONE W01 358 7325
113053 11120022 PIRELLI T26 84181 i CONTITECH FD 120-20 509
E CONTITECH FD-120-17 2682 030000 : GOODYEAR 2B8-550
EWEFORMA WBZ 300-E1 , HENDRICKSON 14395
{ BOSCH 822419042 113068 11120030 EFIRESTONE W01 358 7327
DUNLOP(FR) S0 8201 : {GOODYEAR ~ 2B8-552
| GOODYEAR 2B 7-540 '
\_ ; {FESTO EB-215-155 )
B AKRAFT @sBo/sTD @) BLIND NUT COMBINATIONS STUD &ARINLET A EE@,Q'FEE 10



]
 STYLEE

www.airkraft.com.tr 2 B - 1 80

Top & Bottom View

@ 185 mm

T
AIRKRAFT 2B-180

T

190 mm

V it
gl
(L
ANNANAY

(REFERENCEORDER NO DESCRIPTION I
114050 211120145 iRubber bellow only

113055 11120024 iTop/Bottom side Flange (Steel) M6

113064 :11120174 :Top/Bottom side Flange (Steel) M8

. Y,

/ Reference | Order N ADAPTABLE CROSS Reference | Order No ! ADAPTABLECROSS
114050 11120145 : CONTITECH 603N 113064 111120174 :
' :FIRESTONE FLEX 26 ’ ’
 FIRESTONE W01 358 0142
| PIRELLI 26
: PHOENIX 2BO7R

113055 11120024

@:BoLD/STUD @ BLIND NUT COMBINATIONS STUD QARNET  Depmen . AIRKRAFT




@200 mm

www.airkraft.com.tr

186 mm

Top View

Bottom View

REFERENCE!ORDER NO! DESCRIPTION 2 )
114051 11120146 :Rubber bellow only
113060 11120027 iTop/Bottom plate M10 (bolts) RP 1/2
113062 11120028 iTop/Bottom side only clamp ring M10 :
- J
/ Reference | Order N ADAPTABLE CROSS Reference | Order No ADAPTABLECROSS
114051 $11120146 | CONTITECH FD 138-18S 113062 11120028 !
, : DUNLOP 8" ’ '
113060 : 11120027 : DUNLOP(FR) SP 1490(8"x2) / SP918
' { CONTITECH FD 138-18 1/2M10
 WEFORMA WBZ-G 350
M/31082 (8"x2)

' NORGREN

\_

)

ARKRAFT @&BoLp/sTup

@) BLIND NUT

COMBINATIONS STUD

&X)AIR INLET (2] 8?@@% ETO



STYLEE

2B - 215

www.airkraft.com.tr

Top View Bottom View

@220mm

216 mm

REFERENCE!ORDERNO DESCRIPTION i I
114005 ;11120175 :Rubber bellow only g
113015 11120013 iBottom plate Blind nuts M10,Bumper (90mm) M20X1.5-M12X1.5
- i i 5 /
/Reference | Order No! ADAPTABLE CROSS Reference | Order No ! ADAPTABLECROSS
114005 11120175 {CONTITECH  FS70-7 60512 = =
113015 : 11120013 : PHOENIX SP 2B 12R-12

{ Truck in Turkey
i HENDRICKSON  HS 507907/P

@5BoLD/sTUD @) BLIND NUT COMBINATIONS STUD X)AIR INLET NDKRAFT




STYLE

2B - 220

www.airkraft.com.tr

Top & Bottom View

220 mm

|
AIRKRAFT 2B-220

QU

210 mm

27/
g
Ui

BN
g

REFERENCE!ORDER NO: DESCRIPTION I

114001 : 11120143 :Rubber bellow only
113006 11120006 iTop/Bottom side Flange (Steel) 4xM8
113546 | 11120135 |

. Y,

/Reference | Order No' ADAPTABLE CROSS Reference | Order NO ! ADAPTABLE CROSS
114001 11120143 FIRESTONE FLEX 20 113006 11120006 :
: : FIRESTONE W01-358-0138 113546 |11120135 | FIRESTONE 095.0023
: PHOENIX 2B 12R '  GOODYEAR 556 2 2 8425
 PIRELLI T20 86600 :
CONTITECH FD 200-19S/895N
: GOODYEAR 2B9-200- 5789 2 3202
NG : /
ADKRAFT @BoLD/STUD @ BLIND NUT COMBINATIONS STUD QARNLET @ oeimen ©



STYLEE

www.airkraft.com.tr 2 B - 2 2 O

Top View Bottom View

216 mm

(REFERENCE (ORDER NO! DESCRIPTION IS
114001 | 11120143 {Rubber bellow only g §
113001 11120001 iTop/bottom plate M10 (Blind nuts) Gl/4 44,4mm
113004 11120004 iTop/bottom plate M8 (Blind nuts) G3/4 38,1 mm
113005 11120005 :Top/hottom plate M10 (Blind nuts) : G3/4 :381mm
113008 11120008 : Top/bottom plate M10 (Blind nuts), Bumper (90mm) + Gl/4 44,4mm
113021 §11120016 ETop/bottom plate M10 (Bolts) G1/4 44,4mm
113482 111120117 :Top/hottom plate M8 (Blind nuts) : Gl/4 i 44,4mm
- i i 5 L
/Reference | Order No ADAPTABLE CROSS Reference | Order No ADAPTABLE CROSS
114001 :11120143 :FIRESTONEFLEX 20 113004 ; 11120004 : CONTITECH FD 200-19 2682 045000
: : FIRESTONE W01-358-0138 § { WEFORMA WBZ 400 E1
: PHOENIX 28 12R i  BOSCH 822419043
| PIRELLI T20 86600 i  FESTO EB-250-185
: CONTITECH FD 200-19S/895 N § ' NORGREN PM/31092 (9"x2)
: { GOODYEAR 2B9-200- 5789 2 3202 ;  PHOENIX SP 2B 12R-1
113001 11120001 }FIRESTONE W01 M58 6887 113005 | 11120005 |
’  PHOENIX SP 2B 12R 113008 | 11120008 :
PIRELLI T20 113021 | 11120016 :
{ CONTITECH FD 200-19 1/4 60336 | 113482 11120117 : FIRESTONE 20-T3 095.0255
| GOODYEAR 2B 9-201 § CONTITECH FD 200-19 60336
DUNLOP(FR) 9" SO 9201 : { GOODYEAR 556 2 2 8649
: | GART T291/2 (291.2.200) i | WEFORMA WBZ 400-E2
NG i i  BOSCH 822419063 J
DISTANCE TO

@ 5oLD/sTUD @) BLIND NUT COMBINATIONS STUD &ARINLET A CENTER ALKRAFT



www.airkraft.com.tr

Top View Bottom View
@220 mm
\ A
c — @ @®
5
89/95mm
REFERENCEORDER NO! DESCRIPTION ® i A I
113474 11120110 iTop plate M12 (Boits) Bottom plate M8 (Blind nuts), Bumper (90mm) 1/4 NPT 44, 4mm
113017 11120014 | ' ’
113027 11120018 |
113028 111120019
113487 111120120 | : :
113003 11120003 iTop/bottom plate M10 (Blind nuts),Assembly axis 95 mm M12X1-5§ 44,4mm
- /
/Reference | Order No ADAPTABLE CROSS Reference | Order N ! ADAPTABLE CROSS
113474 111120110 : FIRESTONE 20-T3 095.0313 113028 | 11120019 ; FIRESTONE W01 358 6905
: | GOODYEAR 556 2 2 8521 : : CONTITECH FD 200-19 315
113017 {11120014 :FIRESTONE W01 358 6910 { GOODYEAR 2B9-206
: ECONTITECH FD 200-19 320  TAURUS KF218-6905
{ GOODYEAR 2B9-200 5 ' HENDRICKSON 3518 /5270 / 45843-1
{ TAURUS KF218-6910 113487 : 11120120 | FIRESTONE W01-358-6900
; {HENDRICKSON 8768 / 45843-3 ’ ! CONTITECH FD 200-19 319
113027 : 11120018 : FIRESTONE W01 358 6902 . | GOODYEAR 2B9-216
5 ECONTITECH FD 200-19 310 113003 | 11120003 : DUNLOP(FR) 9" SO 9203
{GOODYEAR  2B9-201 ’ ’
| TAURUS KF218-6902
| HENDRICKSON 2630
N : J
ANRDKRAFT @BoLD/STUD (@ BLIND NUT COMBINATIONS STUD XARINLET A E:ESJ%? ET0



@220 mm

www.airkraft.com.tr

AIRKRAFT 2B-220

AT T
N\

diii
WL

ANGNAN

216mm

Top View

2B - 220

Bottom View

STYLEE

REFERENCE (ORDER NO DESCRIPTION © 1 A )
114001 § 11120143 iRubber bellow only : §
113002 11120002 iTop/bottom plate M10 (Blind nuts) M12X1.5 i44,4mm
113018  :11120015 : Top/bottom plate M10 (Blind nuts) | M14XL5 | 44,4mm
113549  :11120138 : Top/hottom plate M10 (Blind nuts) LGLA i 44.4mm
113501 11120129 | ' :
\ J
( Refererce | Order No' ADAPTABLE CROSS Reference | Order No ADAPTABLE CROSS
114001 111120143 iFIRESTONEFLEX 20 113018 | 11120015
’  FIRESTONE W01-358-0138 113549 511120138 ! PHOENIX 2B 12R-8
 PHOENIX 2B 12R 113501 | 11120129 FIRESTONE WO1 358 6890
EPIRELLI T20 86600 : { CONTITECH FD 200-19 539
{ CONTITECH FD 200-19 5/895 N ’
: { GOODYEAR 2B9-200- 578 9 2 3202
113002 511120002 EFIRESTONE W01 M58 7894
: {CONTITECH FD 200-19 P04 895 N
{ PHOENIX 2B 12R-3
{PIRELLI T20 86660
DUNLOP(FR) 509208
{ GOODYEAR 2B9-287
- ETAURUS KE 216 .
@ BoLD/STUD @) BLIND NUT &) COMBINATIONS STUD SARINLET A E:ESJ%\'RCE 1o ANKRAFTE



@220 mm

T
AN

SSSSSS

Y i
T
WL

216 mm

www.airkraft.com.tr

Top View

Bottom View

REFERENCE!ORDERNO! DESCRIPTION I
114001} 11120143 :Rubber bellow only
113475 111120111 |
\ J
/Reference | Order No ADAPTABLE CROSS Reference | Order N ! ADAPTABLE CROSS
114001 $11120143 :FIRESTONE FLEX 20 113475 } 11120111 | FIRESTONE 20 T3 095.0353
: | FIRESTONE W01-358-0138 : { GOODYEAR 556 2 2 8520
 PHOENIX 2B 12R ;
{ PIRELLI T20 86600
 CONTITECH FD 200-19°S/895 N
{ GOODYEAR 2B9-200- 578 9 2 3202
NG : J
NKRAFT @-BoLD/sSTUD @) BLIND NUT COMBINATIONS STUD &X)AIR INLET



www.airkraft.com.tr

STYLE =

2B - 220

Top View Bottom View
@220 mm
€
€
(REFERENCEIORDER NG DESCRIPTION )
114001 | 11120143 : Rubber bellow only
113026 11120017 ;
113541 (11120176 |
/Reference | Order No ADAPTABLE CROSS Reference | Order No ADAPTABLE CROSS
114001 :11120143 FIRESTONE FLEX 20 113026 | 11120017 : FIRESTONE W01 358 6897
: : FIRESTONE W01-358-0138 ' { GOODYEAR 2B9-229
 PHOENIX 2B 12R { CONTITECH FD 200-19 505
| PIRELLI T20 86600 113541 | 11120176 :
! CONTITECH FD 200-19 5 /895 N : :
{ GOODYEAR 2B9-200- 5789 2 3202
@ -BoLD/sTUD @) BLIND NUT COMBINATIONS STUD &) AIR INLET NDKRAFT



231 mm

www.airkraft.com.tr

Top & Bottom View

REFERENCE!ORDERNO DESCRIPTION )
114004  $11120144 :Rubber bellow only
113547 111120136 |
( Reference | Order No' ADAPTABLE CROSS Reference | Order No ADAPTABLECROSS
114004 $11120144 { CONTITECH FD200-25 S 113547 | 11120136 | FIRESTONE 095.0318
: GOODYEAR 556 2 3 8332 { GOODYEAR 556 2 2 8418
: FIRESTONE W01 358 0305 / 20-2 ;
ANDRKRAFT @5B0LD/STWD @) BLIND NUT COMBINATIONS STUD &)AIR INLET %) E:ES,I%? ET0



www.airkraft.com.tr

STYLEE

2B - 225

Top View Bottom View
@225 mm
AIRKRAFT 2B-225 il—\gfg
1L ny
AN § ® C
89mm
(
(REFERENCE{ORDER NO DESCRIPTION ® i A )
114004  :11120144 :Rubber bellow only : ;
113010 11120009 :Top/bottom plate M10 (Blind nuts) L 1/ANPT i 44,4mm
113012 11120011 iTop/bottom plate M10 (Blind nuts) Gl/4 :44,4mm
113473 111120109 ; ;
113481 511120116 iTop/bottom plate M10 (Blind nuts) M12X1,5 44, 4mm
113483  :11120118 :Top/bottom plate M8 (Blind nuts) 1G3/4  138,1mm
113484 511120119 iTop/bottom plate M8 (Blind nuts) G1/4 i44,4mm
113488 i11120121 | ; '
113489 (11120122 '
113506 11120131 :
113550 511120139 §
113013 11120012 :
\113502 11120130 : )
/Reference ! Order No ADAPTABLE CROSS Reference | Order No : ADAPTABLE CROSS
114004 11120144 }CONTITECH FD200-25 S 113484 11120119 } FIRESTONE W01-M58-6183
’ { GOODYEAR 556 2 3 8332 ’ { CONTITECH FD 200-25/60555
, : FIRESTONE W01-358-0305 / 20-2 ,  WEFORMA WBZ 430-E2
113010 11120009 :FIRESTONE W01 M58 7679 113488 | 11120121 | FIRESTONE W01-358-6951
; {DUNLOP(FR) S0 9280 ; { GOODYEAR 2B 9-257
| GOODYEAR 28 9-269 113489 : 11120122 | FIRESTONE W01-358-6952
| GART T291/28 (291.2.260) | 113506 i 11120131 : FIRESTONE 095.0327
: | FIRESTONE W01 M58 7394 : : GOODYEAR 556 2 2 8657
113012 {11120011 :DUNLOP(FR) 9" x2 SO 9280 113550 | 11120139 | GOODYEAR 556 2 2 8406
FIRESTONE 20-2 T3 095.0256 113013 11120012 FIRESTONE WO1 358 6948
113473 111120109  GOODYEAR 556 2 2 8656 : | CONTITECH FD 200-25 429
113481 :11120116 :PHOENIX SP2B12R-A-4 : | GOODYEAR 2B9-251
113483 (11120118 {CONTITECH  FD200-25/60382 | 113502 | 11120130 : FIRESTONE WO01-358-6943
' | WEFORMA WBZ 430-E1 ' | CONTITECH FD 200-25 426
\_ : { GOODYEAR 2B9-250 J
@ 5oLD/sTuD @) BLIND NUT COMBINATIONS STUD XARINLET A E:ES,ITASF({: ET0 NDKRAFT



I
STYLE

2 B . 2 2 5 www.airkraft.com.tr

Top View Bottom View

@225 mm

AIRKRAFT 2B-225 . ‘

ALY
A AANINININNE

89mm

231 mm

A7 77 A

A\ |
C
REFERENCE (ORDER NO! DESCRIPTION IS
{ 1/ANPT : 44,4mm

113011  :11120010 ;Top/bottom plate M10 (Blind nuts)
113038 11120020 iTop/bottom plate M10 (Blind nuts),
113476 11120112 iTop/bottom plate M10 (Blind nuts),

: M14X1,5! 44,4mm
L M12X1,5 44,4mm

/Reference | Order No! ADAPTABLE CROSS Reference | Order N ! ADAPTABLECROSS
113011 :11120010 FIRESTONE W01 S05 7182 : :
113038 11120020 FIRESTONE W01 M58 6891
113476 11120112 PHOENIX SP2B12R-A-3
ANRKRAFT @BOLD/STUD @) BLIND NUT COMBINATIONS STUD &ARINLET A 8:55,1%5 ETO



STYLE =

www.airkraft.com.tr ZB = 250/HYD

Top & Bottom View

@250 mm

C ©U

AIRKRAFT 2B-250

200 mm

©142 1140

(REFERENCE| ORDERNO! DESCRIPTION A
Two Ply Bellows

114150  : 11120150 : Rubber bellow only

113151 11120043 Top/Bottom side Flange (Aluminum) 8XM8, Blinde Nuts Axis @142mm

High Strength Bellows :

114151 11120151 : Rubber bellow only

113150 11120042 Top/Bottom side Flange (Aluminum) 8XM8, Blinde Nuts Axis @142mm

113551 11120140 Top/Bottom side Flange (Aluminum) 8XM8, Blinde Nuts Axis @140mm

. Y,

/Reference | Order No ADAPTABLE CROSS Reference | Order No ADAPTABLE CROSS
114150 : 11120150 : FIRESTONE W01 095 0219 114151 § 11120151 ;CONTITECH 620N Hydro
' | CONTITECH 620 N : | PIRELLI T245 BV
| PHOENIX 28 15R 113150 : 11120042 i CONTITECH 620 M Hydro
: { PIRELLI T245 93625 i ! PIRELLI T245 BV 92141
113151 ;11120043 : PIRELLI T245 93740 113551 | 11120140 :
NG i i i %

@ 5oLD/STUD @) BLIND NUT COMBINATIONS STUD XARINLET E'ES,\T@F? 0 AIRKRAFT



STYLE

2B - 255

@250 mm

www.airkraft.com.tr

206 mm

Top View Bottom View

REFERENCE!ORDERNO! DESCRIPTION R
114100 | 11120149 :Rubber bellow only ;
113100  $11120038 :Top/hottom plate M10 (holts) {RP 112
113101 11120039 iTop/Bottom side only clamp ring M10 (bolts)
113103 :11120040 iTop/bottom plate M10(bolts) tM22X1.5
\ %
/Reference | Order No ADAPTABLE CROSS Reference | Order No ADAPTABLE CROSS
114100 $11120149 : FIRESTONE W01 095 0175 113101 § 11120039 ; DUNLOP(FR) SP 1003 (10"x2)
’ | CONTITECH FD 210-22 S 113103 : 11120040
: IDUNLOP(FR)  10"X2 SP 920 ’ ’
113100 ;11120038 : CONTITECH FD 210-22 1/2 M10
:  DUNLOP(FR) SP 1538 (10"x2)
{ WEFORMA WBZ-G 450
: NORGREN M/31102 (10"x2)
NG : J
NDKRAFT @-&oLD/sTUD @) BLIND NUT COMBINATIONS STUD X)AIR INLET



R
STYLE =

2B - 257

www.airkraft.com.tr

Top View Bottom View

2225 mm

AIRKRAFT 2B-257

£
(REFERENCEORDER NO! DESCRIPTION i I
113508  {11120133 : :
o %
/Reference | Order No' ADAPTABLE CROSS Reference | Order NO ! ADAPTABLECROSS
113508 : 11120133 : FIRESTONE 257-1 095.0439 : '
{ GOODYEAR 556 2 38342/556 228418
@ 5BoLD/STUD @) BLIND NUT &) COMBINATIONS STUD &) AR INLET ALKRAFTE



STYLE

2B - 285

200mm

www.airkraft.com.tr

Top & Bottom View

@FERENCEEORDER NO!

DESCRIPTION I

114250 ;11120152 :Rubber bellow only

113250 §11120045 iTop/Bottom side Flange (Steel) 12xM8

/Reference | Order No! ADAPTABLE CROSS Reference : Order No ! ADAPTABLE CROSS
114250 11120152 : CONTITECH 608 N 113250 | 11120045 : CONTITECH 608 M
 PHOENIX 2B 20R : :
{ TAURUS KF211-200
ANRDKRAFT @sBoLp/sTu @) BLIND NUT COMBINATIONS STUD AR INLET %] EIESJTAQRC ET0



]
 STYLEE

www.airkraft.com.tr 28 - 300

Top View Bottom View

186mm

(REFERENCE ORDERNO) DESCRIPTION A
114300 11120153 iBottom plate Blind nuts M8
113300 11120046 iTop/Bottom plate M10 (bolts) Rp 1/2 center

113301 511120047 iTop/Bottom plate M10 (bolts) M16X1,5 ilZOmm
113305  : 11120048 :Top/Bottom side only clamp ring M10 : '

. R,

/Reference | Order No ADAPTABLE CROSS Reference | Order No ADAPTABLE CROSS "\
114300 11120153 {CONTITECH ~ FD 41218 S 113301 | 11120047 {FIRESTONE fole 210 095.0082
. 'DUNLOPFR)  SP 256 NB § \CONTITECH ~ FD 412-18
113300 ;11120046 (CONTITECH  FD 412-18 1/2 M10 i :DUNLOP(FR)  SP 2665 NB(12"x2)
' :DUNLOP(FR)  SP 1541 NB 113305 $11120048 iCONTITECH ~ FD 412-18
WEFORMA WBZ-G 550 § :DUNLOPFR) ~ SP 1025 NB
 NORGREN M /31122 (12°X2) | GART T291/B (291.1.170)
\ | I I DISTANCE TO /

@:5oLD/sTuD @) BLIND NUT &) COMBINATIONS STUD XARINLET D CENTER NKRAFT



STYLE

2 B . 30 1 www.airkraft.com.tr

Top View Bottom View

@300 mm

181 mm

o7

o
A0 7777771

139 mm/ 157mm

REFERENCE!ORDER NO DESCRIPTION i N\
114301 §11120154 iRubber bellow only :

113339 11120065 :
113334 :11120064 |

. Y,

/Reference | Order No ADAPTABLE CROSS Reference | Order NO ! ADAPTABLE CROSS "\
114301 11120154 :FIRESTONE FLEX 22 113334 | 11120064 : FIRESTONE W01 358 7410
' : FIRESTONE W01 358 0226 : { CONTITECH FD 330-22 331

: 95.0037 : { GOODYEAR 2B12-406
, 95.0082 i  TAURUS KF 2227410
| PIRELLI T22 88544 i 'HENDRICKSON 10170
!GOODYEAR 556238210 ' ’
 PHOENIX 2B 22R

113339 }11120065 {FIRESTONE W01 358 7403
’ {GOODYEAR  2B12:307
{ TAURUS KF222-7403
{CONTITECH _FD 330-22318
| HENDRICKSON __ 1159/2883/12514-001

NDKRAFT @-&oLD/sTUD @) BLIND NUT COMBINATIONS STUD &) AIR INLET




]
 STYLEE

www.airkraft.com.tr 2 B - 30 1

Top View Bottom View

@300 mm

AIRKRAFT 2B-301

181 mm

W1 i
(M

(REFERENCE ORDERNO) DESCRIPTION . ® 1 A
114301 §11120154 iRubber bellow only
113306 §11120049 iTop/bottom plate M8 (Blind nuts) G1 66 mm
113307  $11120050 iTop/hottom plate M8 (Blind nuts) {G12 166 mm
113310 111120053 :Top/hottom plate M12 (Blind nuts) 1634 173mm
113312 511120055 iTop/bottom plate M10 (Blind nuts) RP 1/4 73 mm
113313 i11120056 iToplhottom plate M8 (Blind nuts) | RP 1/4 : 73 mm
113314 11120057 iTop/hottom plate M8 (Blind nuts) {614 166 mm
113477 111120113 : '
\ i i 5 L
/Refererce | Order No' ADAPTABLE CROSS Reference | Order NO ADAPTABLE CROSS
114301 :11120154 :FIRESTONE FLEX 22 113307 | 11120050 :
: : FIRESTONE W01 358 0226 113310 | 11120053 | PHOENIX SP 2B 22R
: 95.0037 113312 | 11120055 ; DUNLOP(FR) 12"x2 S 12201
: 95.0082 113313 | 11120056 : CONTITECH FD 330-22 / 60031
{ PIRELLI T22 88544 :  PHOENIX SP 2B 22R
| GOODYEAR 556 2 3 8210 ; | WEFORMA WBZ 500-E2
,  PHOENIX 2B 22R { BOSCH 822419064
113306 @11120049 | CONTITECH FD 330-22 :  FESTO EB-325-215
: 2682 060000 113314 | 11120057 ; WEFORMA WBZ 500-E2
| WEFORMA WBZ 500-E1 113477 11120113 : FIRESTONE 22T3 | 095.0257
BOSCH 822419044 § GOODYEAR 556 2 2 8442
\ I I I DISTANCE TO /

@:5oLD/sTUD @) BLIND NUT COMBINATIONS STUD &ARINLET A CENTER NDKRAFT



STYLE

2 B . 30 1 www.airkraft.com.tr

Top View Bottom View

@300 mm

AIRKRAFT 2

'\\\\\\\\\\\\\\\\\\\\\\\\\\l\l||l

181 mm

REFERENCE (ORDER NO! DESCRIPTION IS
113308 §11120051 iTop/bottom plate M8 (Blind nuts) : RP 1/4 73 mm

113309 §11120052 iTop/bottom plate M8 (Blind nuts) G3/4 73 mm
113333 111120063 | : :
113490 111120123 :
113491 11120124 :
113492 11120125 : 5

11120186 Top/bottom olate M12 (Bolt)  M22X15 | 73 mm
\ i i 5 L/
/Reference | Order No! ADAPTABLE CROSS Reference  Order NO ! ADAPTABLECROSS
113308 | 11120051 : FIRESTONE WO0L M58 6381 113490 § 11120123 | FIRESTONE W01-358-7180
: ICONTITECH  FD330-22 : {CONTITECH ~ FD330-22 363
{ PHOENIX 28 22R i | GOODYEAR 2B12 425
, 'DUNLOPFR)  S12202 i ! GOODYEAR FLEX 578-92-3-309
11330 | 11120052 : FIRESTONE WOL M58 6200 113491 | 11120124 | FIRESTONE W01-358-7184
§  NORGREN PM/31122 (12x2) i { GOODYEAR 2B12-429
113333 | 11120063 : FIRESTONE WOL 358 7400 113492 | 11120125 | FIRESTONE W01-358-7185
’ {CONTITECH ~ FD330-22 313 i | GOODYEAR 2B12- 318
| GOODYEAR 2812-309 ! 11120186 | GOODYEAR 556 2 2 8416
{ GOODYEAR FLEX 578-92-3-309 i ! FIRESTONE 223
| TAURUS KF 2227400 ’ ’
HENDRICKSON 51013
i i ; i /

NIRKRAFT @BoLD/STuD @) BLIND NUT COMBINATIONS STUD &) AIR INLET A BE,ITAE\'F?E T0



]
 STYLEE

www.airkraft.com.tr 2 B - 30 1

Top View Bottom View

@300 mm

r

IRKRAFT 2B-301

7 /] T
7 i \
b

181 mm

157mm

C
(REFERENCEIORDER NO! DESCRIPTION 2 @)
114301 §11120154 iRubber bellow only
113329 11120061 iTop/Bottom plate M10 (blind nuts) M14X1.5 160mm

113554 111120141 |

. R,

( Refererce | Order No' ADAPTABLE CROSS Reference | Order No ADAPTABLE CROSS )
114301 §11120154 iFIRESTONE FLEX 22 113329 11120061 : SCANIA 1510249
: : FIRESTONE W01 358 0226 113554 : 11120141 { SCANIA 15038137317

' 95,0037 ’ ’
: 95.0082
PIRELLI T22 88544
: GOODYEAR 556 2 3 8210
 PHOENIX 2B 22R

\ I I I DISTANCE TO /

@ -BoLD/sTUD @) BLIND NUT COMBINATIONS STUD &) AIR INLET D CENTER NKRAFT



I
STYLE

2B - 301

@300 mm

www.airkraft.com.tr

Bottom View

Top View

=

T

[

(e

=

181 mm

REFERENCE !ORDER NO DESCRIPTION (TopPlate) | (Bottom Piate)
g g ® 1A
114301 11120154 :Rubber bellow only P
113556 11120142 |
\ J
/Reference | Order No ADAPTABLE CROSS Reference | Order No ADAPTABLE CROSS
114301 |11120154 i FIRESTONE FLEX 22 113556 | 11120142 : PHOENIX SP 2B 22-R1 51666
' \FRESTONE W01 358 0226 ' ’
' 95.0037
; 95.0082
{ PIRELLI T22 88544
: GOODYEAR 556 2 3 8210
 PHOENIX 2B 22R
N %
@-BoLD/sTUD @) BLIND NUT COMBINATIONS STUD AR INLET

OIKRAFT



www.airkraft.com.tr

Top View

@315mm

! I

R
STYLE =

2B - 315

Bottom View

C
AIRKRAFT 2B-315
AR
W T _
e £
Vi i h
AT
Wittt
C
REFERENCE!ORDER NO! DESCRIPTION I

113320 111120058 :Top Plate M12 (bolt ), Bottom plate M10 (blindnuts), Bumper (97mm} M20X1,5 - M12X1.5

@-BoLD/sTUD @) BLIND NUT COMBINATIONS STUD

o J
( Reference | Order No' ADAPTABLE CROSS Reference : Order No ! ADAPTABLECROSS "\
113320 :11120058 iPHOENIX SP 2B 22Ra-2 : :
: : Truck in Turkey
{HENDRICKSON  HS 507906/P
QARNET  ATRKRAFTE



STYLE

2B - 320

@300 mm

\
( [

AIRKRAFT 2B-320

i
A

I‘/ A
I

241 mm

www.airkraft.com.tr

Top View

Bottom View

C |
(REFERENCEORDER NO! DESCRIPTION ® | A )
114302 $11120155 :Rubber bellow only : f
113311 11120054 iTop/bottom plate 3/8-16 (Blind nuts) Rp 1/4 center
113316 11120177 iTop/bottom plate 3/8-16 (Blind nuts) 1/4 NPT 73 mm
113493 111120178 : '
113494 111120179
113325 11120059 | : ,
113326 ;11120060 :Top/hottom plate M8 (Blind nuts) 1G3/4  173mm
113342 111120067 :Top/ottom plate M10 (Blind nuts) { M12X1.5 : 73mm
iBottom assembly axis 90 to top assembly axis ; :
o J
/Reference | Order No ADAPTABLE CROSS Reference | Order No ADAPTABLE CROSS
114302 : 11120155 : FIRESTONE W01 358 0259 : : CONTITECH FD330-30 323
’ f 22-1,5/095.0092 : {HENDRICKSON 13035
{ GOODYEAR 556 2 3 8328 113494 :11120179 :FIRESTONE W01-358-7442
, i 578923 310 f : GOODYEAR 2B12-419
113311 | 11120054 :FIRESTONE W01 358 7440 113325 $11120059 :FIRESTONE 22-1.5 T3 095.0258
: 'DUNLOP (FR) ~ S12280 113326 11120060 :GOODYEAR 556 2 2 8634
; { GOODYEAR 2B12-305 113342 11120067 $DUNLOP(FR) 12"x2
113316 11120177 | FIRESTONE W01-358-7444 : :FIRESTONE W01-M58-6875
: GOODYEAR 2B12-416 | 2B12-446 :
{ CONTITECH FD330-30 369
: ! HENDRICKSON 9830
113493 11120178 FIRESTONE W01-358-7443
: : DUNLOP(FR) 512280
\_ , ! GOODYEAR 2B12-305 )
B AIOKRAFT @-5oLD/sTUD @) BLIND NUT COMBINATIONS STUD AR INLET



STYLEE

www.airkraft.com.tr 2 B - 3 2 O

Top View Bottom View

E _—
3
~_ | ]
157mm
REFERENCE!ORDER NO DESCRIPTION i )
114302 111120155 :Rubber bellow only :
113341 11120066 |
113343 111120068 |
113545 111120134
- i i 5 /
/Reference | Order No' ADAPTABLE CROSS Reference | Order No ! ADAPTABLECROSS
114302 ! 11120155 ; FIRESTONE W01 358 0259 113343 | 11120068 | FIRESTONE W01 358 7550
: f 22-1,5/ 095.0092 §  CONTITECH FD 331-26 541
| GOODYEAR 556 2 3 8328 i { GOODYEAR 2B12-346
, i 578 92 3310 113545 | 11120134 | FIRESTONE FLEX 22815
113341 111120066 : FIRESTONE W01 358 7555 § ' FIRESTONE W01 358 7636
: { CONTITECH FD 331-26 480 ; :
{ GOODYEAR 2B12-440
NG i i i /

@5B0LD/STWD @ BLIND NUT COMBINATIONS STUD AR INLET ANKRAFT



STYLE

2B - 350

www.airkraft.com.tr

Top View

@300mm

.
o

AIRKRAFT 2B-350

At

S SSSSSSSS\e wwuw

283mm

777771

2232

Bottom View

(REFERENCEIORDER NO DESCRIPTION

114304 11120156 :Rubber bellow only

®§®\

113330 11120062 iTop/Bottom plate M10 (holts)

: ML6xL5: 120mm

/Reference | Order No' ADAPTABLE CROSS Reference | Order No ! ADAPTABLE CROSS
114304 11120156 iDUNLOP(FR) SP 2770 113330 11120062 : DUNLOP(FR) SP 2782 NB
BAOKRAFT @BoLD/STWD @) BLIND NUT &) COMBINATIONS STUD &X)AIR INLET %] E'ES,\T?E\'RCE 10



www.airkraft.com.tr

@350mm

¢ I

AIRKRAFT 2B-351

263mm

R
STYLE =

2B - 351

Top View Bottom View

¢ fil
REFERENCE IORDER NO! DESCRIPTION 2
113507 |11120132 |
- J
/Reference | Order No! ADAPTABLE CROSS Reference | Order NO ! ADAPTABLECROSS
113507 111120132 {FIRESTONE  233-2 T2 095.0508 ' =

| GOODYEAR 556 2 2 8725

{ GOODYEAR FLEX 556 2 3 8338

@ BoLD/STUD @ BLIND NUT

\_ )
COMBINATIONS STUD &AIR INLET ANDKRAFT



2 B = 3 5 1 www.airkraft.com.tr

Top View Bottom View

©2350mm

i I

¢
AIRKRAFT 2B-351

| ]
¢

i
L

263mm

.
(-

( ==\

I

(REFERENCE(ORDERNO! DESCRIPTION i I
113478 ;11120114 | ;
- J
/Reference | Order No' ADAPTABLE CROSS Reference | Order NO ! ADAPTABLECROSS
113478 111120114 {FIRESTONE  233-2 T2 095.0362 ' '
: GOODYEAR 556 2 2 8647

GOODYEAR FLEX 556 2 3 8338

B \OKRAFT @ 5BoLD/STUD @) BLIND NUT &) COMBINATIONS STUD AR INLET



@350mm

www.airkraft.com.tr

C T
/[
AIRKRAFT 2B-352

£ -

256mm

STYLEE

Top View

2B - 352

Bottom View

] B
i |
C R
REFERENCE (ORDER NO! DESCRIPTION 2 )
113479 111120115
113480 11120180 |
113499 111120127 |
113500 11120128
o %
/Reference | Order No ADAPTABLE CROSS Reference | Order No ADAPTABLE CROSS
113479 $11120115 : FIRESTONE W01-358-6805 113499 | 11120127 | FIRESTONE W01-358-6800
| CONTITECH FD 530-30 532 / 707 : { CONTITECH FD 530-30 518
, { GOODYEAR 2B14-462 | GOODYEAR 2B14-363
113480 : 11120180 : FIRESTONE W01-358-6801 113500 | 11120128 : FIRESTONE W01-358-6808
'  CONTITECH FD 530-30 451 : ! CONTITECH FD 530-30 519
| GOODYEAR 2B14-365 ’
\ J
@-BoLD/sTUD @) BLIND NUT COMBINATIONS STUD X AIR INLET ANDKRAFT



STYLE

2B - 355

2350mm

I

=

AIRKRAFT 2B-355

206mm

www.airkraft.com.tr

Top & Bottom View

] M
| |
(REFERENCE!ORDER NO DESCRIPTION I
114450 | 11120161 :Rubber bellow only
113548 11120137 |
/Reference | Order No ADAPTABLE CROSS Reference : Order No ! ADAPTABLE CROSS
114450 $11120161 :FIRESTONE FLEX 21 113548 | 11120137 i FIRESTONE 095.0038
:  FIRESTONE 21 - 095.0035 ' { GOODYEAR 556 2 3 8411
: W01-358-0213 {GOODYEAR FLEX 556 2 3 8329
 PHOENIX 2B 34R '
! GOODYEAR 2B 14
BADKRAFT @soLp/sTwD @) BLIND NUT COMBINATIONS STUD &) AR INLET %] 8?@9& 1o



2350mm

www.airkraft.com.tr

Top View

STYLEE

2B - 355

Bottom View

@FERENCEEORDER NO: DESCRIPTION 2 )
Two Ply Bellows .
114450 11120161 :Rubber bellow only
113466 :11120108 :
113495 11120181 !
113496 ;11120182 |
113497 111120183 ;
113503 | 11120184 : :
113450 :11120098 : Top/bottom plate M8 (Blind nuts) G 34
113453 ;11120101 : Toplbottom plate M8 (Blind nuts) 61
113455 11120103 : Top/bottom plate M8 (Blind nuts) 1G 12
\113459 | 11120104 : Top/hottom plate M10 (Blind nuts) ic12 /
/Reference | Order No ADAPTABLE CROSS Reference | Order No ADAPTABLE CROSS
114450 11120161 :FIRESTONE FLEX 21 - 095.0035 113497 } 11120183 | FIRESTONE W01-358-7144
: f W01-358-0213 ; { GOODYEAR 2B14-353
 PHOENIX 2B 34R 113503 : 11120184 | FIRESTONE W01-358-7146
, | GOODYEAR 2B 14 :  CONTITECH FD 530-22 342
113466 | 11120108 :FIRESTONE W01 358 7136 { GOODYEAR 2B14-355
: ! CONTITECH FD 530-22 321 ; {HENDRICKSON 13046
{ GOODYEAR 2B14 356 113450 11120098 : PHOENIX SP 2B 34R
: {HENDRICKSON 1080 113453 | 11120101  CONTITECH FD 530-22
113495 11120181 EFIRESTONE W01-358-7145 ’ : 2682 075 000
: { CONTITECH FD 530-22 374 | PIRELLI 1938
| GOODYEAR 2B14-354 EWEFORMA WBZ 600-E1
: HENDRICKSON 13038 : : BOSCH 822419045
113496 |11120182 }FIRESTONE W01-358-7143 113455 | 11120103
\_ ' {GOODYEAR ~ 2B14-352 113459 | 11120104 | -/
@ -BoLD/sTUD @) BLIND NUT &) COMBINATIONS STUD AR INLET ALKRAFTER



STYLE

2B- 355/HYD

©350mm

www.airkraft.com.tr

Top View

Bottom View

(REFERENCE| ORDER NO! DESCRIPTION 2 )
Two Ply Bellows . :
113460 11120105 ETop/bottom plate M8 (Blind nuts) G 1/4
113454 $11120102 '
113464 11120107 '
High Strength Bellows
114452 11120163 iRubber bellow only
113461 11120106 |
113452 111120100
113498 | 11120126
\ %
/Reference | Order No' ADAPTABLE CROSS Reference | Order No ; ADAPTABLE CROSS (Highstengtigelons)
113459 $11120104 | 114452 11120163 | FIRESTONE FLEX 205
113460 | 11120105 | CONTITECH FD 530-22 61362 : : FIRESTONE W01 358 7929
:  WEFORMA WBZ 600-E2 113461 | 11120106 ; FIRESTONE WO1 358 7208
{ BOSCH 822419065 113452 | 11120100 : FIRESTONE W01-358 7224
. {FESTO EB-385-230 : { CONTITECH FD530-22 2682
113454 :11120102 : FIRESTONE 2172 W01 358 7135 : : PIRELLI 1938
’  CONTITECH FD 530-22 311 113498 11120126 : FIRESTONE W01 358 7221
| GOODYEAR 2B 14-360/556 2 2 8554 : :
. HENDRICKSON  12514-014
113464 $11120107 : FIRESTONE W01 358 7140
: f W01 681 7110
ECONTITECH FD 530-22 316
| GOODYEAR 2B14-359
NG | HENDRICKSON 3184 J
NDKRAFT @-BoLD/sTUD @) BLIND NUT COMBINATIONS STUD X)AIR INLET



R
STYLE =

2B - 360

www.airkraft.com.tr

@ 360 mm Top View Bottom View

¢ i

AIRKRAFT 2B-360 158 158

158

158

i VI

335 mm

C I
REFERENCE!ORDER NO DESCRIPTION L ® I
114451 111120162 Rubber bellow only :
113451 §11120099 iTop/bottom plate M8 (Blind nuts) G3/4
- 5 i L/
/Reference | Order No' ADAPTABLE CROSS Reference | Order No ¢ ADAPTABLE CROSS tihstengthelons) ™\
114451 $11120162 : PHOENIX 2B 34RB 113451 | 11120099 ; PHOENIX SP2B34RB

@-BoLD/sTUD @) BLIND NUT COMBINATIONS STUD &) AIR INLET MNKRAFT



www.airkraft.com.tr

Top View Bottom View
@368mm
i
U M el 2
AIRKRAFT 2B-370
£
\
- B
NN N N @283mm
[ ) <3l
1
REFERENCE ORDER NO DESCRIPTION g )
TwoPlyBellows
114350 11120157 :Rubber bellow only : :
113353 :11120072 Top/Bottom plate M10 (bolts) | M22X1,5 | center
113354  :11120073 iTop/Bottom plate M10 (bolts) M22X1,5 : 170mm
113355 11120074 :Top/Bottom side only clamp ring M10 :
113358 11120077 ETop/Bottom plate M10 (bolts) RP1/2 center
113359 ;11120078 | : ‘
- /
/Reference | Order No ADAPTABLE CROSS Reference | Order No ADAPTABLE CROSS
114350 11120157 CONTITECH FD 614-26 113358 11120077 :CONTITECH FD 614-26
:  DUNLOP(FR) SP 1039 (14"x2) : :DUNLOP(FR) SP 1556
113353 511120072 ECONTITECH FD 614-26 EWEFORMA WBZ-G 600
' : DUNLOP(FR) 14" 2 :NORGREN M/31142 (14"1/2x2)
113354 11120073 CONTITECH FD 614-26 113359 11120078 :CONTITECH FD 614-26
: : DUNLOP(FR) 14"1/2 x 2 SP 1988 ' : DUNLOP(FR) SP 1988
113355 ;11120074 i CONTITECH FD 614-26 ’
' DUNLOP(FR) SP 1041
N : /
ANLDKRAFT @-BowD/sTwD @) BLIND NUT &) COMBINATIONS STUD AR INLET %] EE’J%E ET0



www.airkraft.com.tr

STYLE =

2B -370HYD

Top View Bottom View
@368mm
i
€ TT—A @
AIRKRAFT 2B-370-Hyd
\
i -
[NANELNE N N @282 mm
C ) it
Il
REFERENCEIORDERNO) DESCRIPTION & o)
High Strength Bellows '
114351 §11120158 iRubber bellow only . :
113350 511120069 iTop/Bottom plate 8xM10 (bolts) M22X1,5§ center
113351 511120070 iTop/Bottom plate 8xM10 (bolts) M22X1,5§ 170mm
113352  :11120071 :Top/Bottom side only clamp ring 8xM10 : :
113356 $11120075 (Top/Bottom plate 8xM10 (bolts) { RP1/2 ! center
113357 111120076 iTop/Bottom plate 8xM10 (bolts) { RP1/2 170mm
113361 11120079 éTop/Bottom side only clamp ring 12XM8 holts ;
/Reference | Order No! ADAPTABLE CROSS Reference : Order No ! ADAPTABLECROSS
114351 111120158 : CONTITECH

FD 614-26 113356 11120075 ; CONTITECH FD 614-26

:  DUNLOP(FR) 14" 2 RE : : DUNLOP(FR) 14"x 2 RE
113350 | 11120069 : CONTITECH FD 614-26 113357 : 11120076 | CONTITECH FD 614-26

' : DUNLOP(FR) 14" 2 RE '  DUNLOP(FR) 14"x 2 RE
113351 | 11120070 :CONTITECH FD 614-26 113361 } 11120079 ; CONTITECH FD 614-26

: : DUNLOP(FR) 14" 2 RE ' : DUNLOP(FR) SP 2599
113352 $11120071 | CONTITECH FD 614-26 ’

' DUNLOP(FR) 14"x 2 RE

\_

@-BoLD/sTuD O

BLIND NUT

COMBINATIONS STUD &X)AIR INLET

DISTANCE TO

D CENTER HNDIKRAFT



ZB - 400 www.airkraft.com.tr

Top View Bottom View

@406mm

. @
AIRKRAFT 2B 400
: )
(LA T )
A 026820
L
REFERENCE ORDER NO) DESCRIPTION IR
TwoPlyBellows : :
114400 §11120159 iRubber bellow only : :
113403 511120085 iTop/Bottom plate M10 (bolts) M22X15 } center
113404  :11120086 iTop/Bottom plate M10 (bolts) M22X1,5 : 170mm
113405 11120087 :Top/Bottom side only clamp ring M10 :
113408 §11120090 éTop/Bottom plate M10 (bolts) RP1/2 center
113409 ;11120091 :Top/Bottom plate M10 (bolts) {RPL/2 i 170mm
- i i 5 L
/Reference | Order No ADAPTABLE CROSS Reference | Order No ! ADAPTABLE CROSS
114400 §11120159 iDUNLOP (FR) SP 1194 /1998 113405 511120087 E
113403 | 11120085 : DUNLOP(FR) 16" X 2 SP 2340 113408 ;11120090 :DUNLOP(FR) 16" x 2 SP 1557
113404 511120086 iDUNLOP(FR) 16" x2 113409 211120091
NG i i i /

DISTANCE TO

BAIXKRAFT @-coD/sTiD (@ BLINDNUT COMBINATIONSSTUD  (QARINLET @ CENTER



STYLE =

www.airkraft.com.tr ZB - 4OOHYD

Top View Bottom View

@406mm

C

Q

AIRKRAFT 2B 400-Hyd
1\ 1NN I\

190mm

@282mm

REFERENCE!ORDERNO! DESCRIPTION A
High Strength Bellows ! : :
114401 §11120160 iRubber bellow only . :
113400 511120082 iTop/Bottom plate 8xM10 (bolts) M22X1,5§ center

113401 11120083 iTop/Bottom plate 8xM10 (bolts) M22X1,5 170mm
113402 :11120084 :Top/Bottom side only clamp ring 8xM10 : :
113406 11120088 iTop/Bottom plate 8xM10 (holts) { RP1/2 ! center

113407 111120089 iTop/Bottom plate 8xM10 (bolts) { RP1/2 170mm
113411 11120092 éTop/Bottom side only clamp ring 4XM10 holts ;

. I,

/Reference | Order No ADAPTABLE CROSS Reference | Order No ADAPTABLE CROSS
114401 §11120160 iDUNLOP(FR) 16" x 2 RE 113406 511120088 EDUNLOP(FR) 16" x 2 RE
113400 : 11120082 : DUNLOP(FR) 16" x 2 RE 113407 : 11120089 ; DUNLOP(FR) 16"x 2 RE
113401 $11120083 ; DUNLOP(FR) 16" x 2 RE 113411 : 11120092 |
113402 | 11120084 {DUNLOPFR)  16"x2 RE : :
NG i 5 i /

DISTANCE TO

@5BoLD/STUD @) BLIND NUT COMBINATIONS STUD &)AIR INLET @ CENTER ANEKRAFT



]
STYLE

2 B = 49 O www.airkraft.com.tr

@490 mm
@410 mm

AIRI -
1\ N W

175 mm

(REFERENCEORDER NO DESCRIPTION I
11120171
- : : /
/Reference | Order No' ADAPTABLE CROSS Reference | Order NO ! ADAPTABLECROSS
111120171 : FIRESTONE 203 : =
: GOODYEAR 556 2 3 8203
 FIRESTONE 095.0358
N . /
&/ \2KRAFT @BoLD/STUD @) BLIND NUT COMBINATIONS STUD &) AR INLET



R
- STYLE =

www.airkraft.com.tr 2 B - 5 10

» @496 mm o
D - @332 mm _ =
L [ ]
AIRKRAFT2B-510 |
1L
N :
177 1] &
Ml [
(L \
V] i
@FERENCE?ORDER NO: DESCRIPTION )
| 11120167
\_ 5 5 /
((Refererce | Order No ADAPTABLE CROSS Reference | Order NO ! ADAPTABLECROSS
} 11120167 GOODYEAR 556 2 3 8064 ! '
+ JARFLEX 6.13
NG i i i /

@:5oLD/STUD @ BLIND NUT COMBINATIONS STUD AR INLET ALKRAFT



]
STYLE

ZB - 530 www.airkraft.com.tr

B @520 mm _
- @380 mm -
AIRKRAI—_FZB—SSO/
WL
| £
| 5
7 1 S
] |
A N ‘
\ |
REFERENCE (ORDER NO! DESCRIPTION I
11120166
__ Y,
/Reference | Order No ADAPTABLE CROSS Reference | Order No ! ADAPTABLE CROSS
§11120166 iGOODYEAR 556 2 3 8083 : :
EJARFLEX 7.14
N . /

X AR INLET

B/ AOKRAFT @-BoLD/sTUD @) BLIND NUT COMBINATIONS STUD



www.airkraft.com.tr

@550 mm

STYLEE

2B - 550

@470 mm

180 mm

REFERENCEIORDER NO! DESCRIPTION I
11120172 |
\ J
/Reference | Order No! ADAPTABLE CROSS Reference | Order NO ! ADAPTABLECROSS

11120172 FIRESTONE 29

 FIRESTONE 095.0250

{ GOODYEAR 556 2 3 8350

o

)

@-BoLb/sTuD @) BLIND NUT COMBINATIONS STUD

COAR INLET ANIKRAFT



3 B - 2 55 www.airkraft.com.tr

@250mm Top View Bottom View
I
C I el
1S
5
Al
|
(REFERENCEIORDER NO! DESCRIPTION B
116005 511140061 iRubber hellow only :
115055  :11140029 :Top/Bottom plate M10 (bolts) i Rp 112

115056 11140030 iTop/Bottom side only clamp ring M10

\_

/

/Reference | Order No ADAPTABLE CROSS

Reference | Order NO | ADAPTABLE CROSS N\

116005 : 11140061 !

115056 : 11140030 : CONTITECH FT 210-32

DUNLOP(FR) SP 1015 (10"x 3)

115055 : 11140029 | CONTITECH FT 210-32
: : DUNLOP(FR) SP 1539 (10"x 3)

EWEFORMA WBD-G 450

NORGREN M/31103 (10"x 3)

' CONTITECH FT 210-32

: DUNLOP(FR) SP 1015 (10" 3)

\_

)

B AKRAFT @-B0D/STUD (@ BLINDNUT

COMBINATIONS STUD &) AR INLET %] EE’J%? F 10



@300mm

www.airkraft.com.tr

Top View

AIRKRAFT 3B-300

295mm

STYLE

3B-300/HYD

Bottom View

(REFERENCE  ORDERNO! DESCRIPTION 7 )
Two Ply Bellows :
116001 11140057 ;Rubber bellow only . :
115003 ;11140001 ;Top/Bottom plate M10 (bolts) {RP1/2 ! center
115004 11140002 iTop/Bottom plate M10 (bolts) : M16X1.5 : 120mm
115007 11140004 iTop/Bottom side only clamp ring M10
115014 : 11140010 :Top plate M10 (25mm Bolts) Bottom plate M10 (78mm Bolts) i RP1/2 i center
High Strength Bellows
116003  :11140059 :Rubber bellow only + RP1/2  icenter
115005 | 11140003  Top/Botto side only clamp ring 12XM8 bolts
115011 11140008 ;Top/Bottom plate M10 (bolts) {RP1/2 ! center
115012  :11140009 :Top/Bottom plate M10 (bolts) : M16X1.5 : 120mm
Q15013 : 11140069 iTop/Bottom side only clamp ring M10(bolts) : : /
/Reference | Order No ADAPTABLE CROSS Reference | Order No ADAPTABLE CROSS
116001 11140057 DUNLOP(FR) 12"x3 SP 259 116003 11140059 :CONTITECH FT 412-32 S
115003 | 11140001 } CONTITECH FT 412-32 : iDUNLOP(FR) 12" 3RE
: : DUNLOP(FR) 12"x3 SP 1542 115005 $11140003 {CONTITECH FT 412:32 S
EWEFORMA WBD-G 550 EDUNLOP(FR) 12"x 3 RE SP 2597
. ENORGREN M/31123 (12"x3) 115011 511140008 :CONTITECH FT 412-32 S
115004 11140002 :CONTITECH FT 412-32 i : DUNLOP(FR) 12"x 3 RE SP 1542 NB
: : DUNLOP(FR) 12"x3 SP2666NB | 115012 511140009 { CONTITECH FT 412-32 S
115007 11140004 iCONTITECH FT 412-32 S : iDUNLOP(FR) 12"x 3 RE SP 2666 NB
: EDUNLOP(FR) SP 1033 NB 115013 511140069 : CONTITECH FT 412-32 S
115014 511140010 : : EDUNLOP(FR) 12"x 3RE SP 2271
- /
@5BoLD/sTuD @) BLIND NUT COMBINATIONS STUD AR INLET %] Q:ES,ITAE'F? ET0 ANKRAFT



I
STYLE

BB - 305HYD www.airkraft.com.tr

Top View Bottom View

©300 mm

Rubber
m ”(2“ part

[ —

AIRKRAFT 3B-305-Hyd

276 mm

135 mm

WU T
1

&FERENCEEORDER NOi
High Strength Bellows :
115021 11140014 :Top/Bottom plate M12 (bolts), Bumper(120mm)

DESCRIPTION C ® A )

 MI2XL5 | 73mm

- /)
/Reference | Order No' ADAPTABLE CROSS Reference | Order NO ! ADAPTABLE CROSS
115021 11140014 :BMC 57RS3066424 ' '
NG 5 : : %
DISTANCE TO

COMBINATIONSSTUD ~ (QARINLET A CENTER

B/ AKRAFT @BoLD/STWD @) BLIND NUT



STYLE

www.airkraft.com.tr 3 B = 3 1 O

Top View Bottom View

@300 mm

AIRKRAFT 3B-310

276 mm

139/ 157mm

REFERENCE (ORDER NO! DESCRIPTION 2 )
116008 | 11140062 :Rubber bellow orly =

115016} 11140012 :

115034 | 11140023 |

115072 | 11140070

. I,

/Reference | Order No ADAPTABLE CROSS Reference | Order No ADAPTABLE CROSS
116008 : 11140062 : FIRESTONE 38R/38D 115034 | 11140023 : FIRESTONE W01-358-8008
: FIRESTONE 095.0047 § § W01-358-8025
| GOODYEAR FLEX 556 338334 : : W01-358-8028
: : 578 93 3 100 i  CONTITECH FT 330-29 431/469
115016 11140012 | FIRESTONE W01 358 8032/7995 § | GOODYEAR 3812-300
| CONTITECH FT330-29413/547 | 115072 | 11140070  FIRESTONE W01-358-7994
| GOODYEAR 3812-315 /319/329 i | CONTITECH FT 330-29 546
: ' |GOODYEAR  3B12-328
NG i i i %

@ -BoLD/sTUD @) BLIND NUT &) COMBINATIONS STUD &) AIR INLET ANDKRAFTEL



I
STYLE

3B-310

@300 mm

AIRKRAFT 3B-310

276 mm

www.airkraft.com.tr

Top View

139/ 157mm

Bottom View

REFERENCE!ORDERNO! DESCRIPTION I
115087 | 11140071
115036  ; 11140072 !
/Reference | Order No ADAPTABLE CROSS Reference | Order N ! ADAPTABLE CROSS

115037 :11140071 :FIRESTONE W01-358-7996 115036 11140072 {FIRESTONE W01 358 8016

: : CONTITECH FT 330-29 520/ 723 { CONTITECH FT 330-29 433

{ GOODYEAR 3B12-335 '

NKRAFT @-&oLD/sTUD @) BLIND NUT COMBINATIONS STUD AR INLET



@300 mm

SN

www.airkraft.com.tr

AR

AIRKRAFT 3B-310

A RN
NN

S SREVEY

S

—

7277/
(]

i
M

7

—

/iﬁln
i

276 mm

Top View

STYLE

3B -310

Bottom View

\
(REFERENCEORDER NO DESCRIPTION ® A )
116008 11140062 :Rubber bellow only
115023  {11140015 !
115027 11140017 |
115033 11140073 :
115035 11140074
o J
/Reference | Order No ADAPTABLE CROSS Reference | Order No ADAPTABLE CROSS
116008 : 11140062 : FIRESTONE 38R/38D 115035 ;11140074 :CONTITECH FT 330-29 498
: | FIRESTONE 095.0047 : : FT 330-29 432
{GOODYEAR FLEX 556 338334 { FIRESTONE W01 358 8030
, i 578 93 3 100 f W01-358-8010
115023 | 11140015 :FIRESTONE 38R T3 095.0274 :GOODYEAR 3B12-301
: : GOODYEAR 556 3 2 8401 '
115027 $11140017 { CONTITECH FT 330-29 503
’ | CONTITECH FT 330-29 702
. {GOODYEAR  3B12-304
115033 | 11140073 :FIRESTONE W01-358-8013
: { CONTITECH FT 330-29 773
GOODYEAR 3B12-305
\ J
@ 5oLD/sTuD @) BLIND NUT COMBINATIONS STUD &ARINLET A QE’,\T?SRCE ©  AIDKRAFT



AIRKRAFT 3B-310

276 mm

LU N N

%%

www.airkraft.com.tr

Top & Bottom View

(REFERENCE (ORDER NO! DESCRIPTION )
116008 11140062 iRubber bellow only
115086 ;11140036 :
/Reference | Order No! ADAPTABLE CROSS Reference | Order No ! ADAPTABLE CROSS "\
116008 :11140062 : FIRESTONE 38R/38D 115086 : 11140036 ;FIRESTONE 095.0154
 FIRESTONE 095.0047 ' { GOODYEAR 556 3 2 8534
! GOODYEAR FLEX 556 3 38334 ;
' 578 93 3 100
B A KRAFT @-&oLD/STWwD @) BLIND NUT COMBINATIONS STUD AR INLET %] (D;'ESJTAE'FS ET0



www.airkraft.com.tr

276 mm

3B-310HYD

Top View Bottom View

157 /158 mm 157 / 158 mm

REFERENCE IORDERNO;

DESCRIPTION L ®

A )

High Strength Bellows

116004

+ 11140060 : Rubber bellow only

115009 11140006 : Top Plate M12 (36mm Bolts)(Assembly axis 158mm) ,Bottom M16X15: 73 mm
§ : plate M14 (60mm Bolts)(Assembly axis 158mm) § i

115010 11140007 : Top Plate Combostudand M12 blindnut(Assembly axis 157 mm), : M20X1.5-M12X1.5
; + Bottom plate M12 Bolts (Assembly axis 157 mm) , Bumper (112mm)

115024 : 11140016 : Top/bottom plate M8 (Blind nuts), Assembly axis 157 mm 61 : 66 mm

115082 : Top/bottom plate M8 (Blind nuts) Assembly axis 157mm 1G3/4 i 73mm

: 11140075

IM16XL5 |
'M16x1.5 | 73 mm

73 mm

115029 11140019 (
030 ; op Plate M12 (Ralfs) Battom plate M14 (60mm Balts), Assembly axis 157 mm EM16X1-5 73 mm
Q15032 11140022 Top/bottom plate M8 (Blind nuts), Assembly axis 157mm 561/4 3 mry
/Reference | Order No ADAPTABLE CROSS Reference | Order No ADAPTABLE CROSS
116004 §11140060 iCONTITECH FT330-29 S 115028 511140018 'GART 271.3.298 (T271IS)
: : FIRESTONE 38 : {CF GOMMA 322 BB 204413
115009 11140006 iPIRELLI 322 BB-93410 115029 511140019 EGART 271.3.298/ 2
DUNLOP 12"X3 RENB SP 12350 I ECF GOMMA 322 BB 204450
115010 511140007 EFIRESTONE W01 M58 8017 115030 511140020 ‘PIRELLI 93410 322B.B
: : DUNLOP $12302 (12"x3NB) | 115032 11140022 {CONTITECH FT 330-29 61831
115024 211140016 iCONTITECH FT 330-29 61830 : EWEFORMA WBD 500-E2
WEFORMA WBD 500-E1\ BOSCH 822419081
115082 ;11140075 ENORGREN PM/31123(12"x3) :
- /
@ -BoLD/sTUD @) BLIND NUT COMBINATIONS STUD &) AIR INLET A 8:55,1%5 ETO NIDKRAFT



STYLE

BB - 310HYD www.airkraft.com.tr

2300 mm Top View Bottom View
Metal sheet m H:]H
A ‘ TR
AIRKRAFT 3B-310-Hyd
\\\\\\\\\\\\\\\\\\\\\\\\‘! t
E
“—
0 o
(REFERENCEIORDER NO! DESCRIPTION 2 LA )
High Strength Bellows : :
116004 11140060 :Rubber bellow only : :
115008 11140005 iTop/bottom plate M12 (Bolts), Bumper (120mm) M12X1.5 i(—)73 mm
115015  : 11140011 ;Tophottom plate M12 (Bolts), Bumper (120mm) Top plate with metal sheet: M12X1.5 {73 mm
115017 | 11140013 :Top/hottom plate M12 (Bolts), Bumper (120mm) : M12X1.5 {73 mm
/Reference | Order No' ADAPTABLE CROSS Reference | Order NO ! ADAPTABLECROSS

116004 | 11140060 iCONTITECH  FT 330-29'S 115017 ;11140013 : MERCEDES-ACTROS-TURKEY
: FIRESTONE 38 ’ :
115008 | 11140005 {CONTITECH T 330-29 P01
| GART T271/S 271.3.296
115015 $11140011

N i i i J
DISTANCE TO

B ARKRAFT  @soLp/sTup @ BLIND NUT & COMBINATIONSSTUD ~ (XQARINLET A CENTER




]
 STYLE

3B - 356

www.airkraft.com.tr

0350mm Top View Bottom View
( )
AIRKRAFT 3B-356 s .
1 R
& .
// E R 2\ 5\
\\\\\\\\\\ ; 4 s
(i
Wi L
\
—
(REFERENCEORDER NO! DESCRIPTION 2 )
116055 §11140068 iRubber bellow only
115059  $11140076 ;
115051 11140026 | :
115053  :11140027 iTop/bottom plate M8 (Blind nuts) Gl
115060  :11140077 '
115054  i11140028 |
115061 11140032 |
115070  :11140034
o %
/Reference | Order No ADAPTABLE CROSS Reference | Order No ADAPTABLE CROSS
116055 §11140068 iCONTITECH FT 530-32 115060 11140077 'FIRESTONE W01 358 7800
: FIRESTONE FLEX 313 GOODYEAR 3B14-360
; iGOODYEAR FLEX 578-93-3-350 ICONTITECH FT 530-32 333
115059 | 11140076 | FIRESTONE W01 358 7798 115054 | 11140028 :CONTITECH FT530-32 60717
: GOODYEAR 3B14-356 ! ‘WEFORMA WBD 600-E2
: CONTITECH FT 330-29 329 'BOSCH 822419082
; HENDRICKSON 13039 115061 11140032 FIRESTONE WO01-358-7808
115051 11140026 iWEFORMA WBD 600-E3 GOODYEAR 3B14-350
115053 11140027 EWEFORMA WBD 600 E1 :CONTITECH FT 530-32 336
: : HENDRICKSON 13157
115070 11140034 FIRESTONE W01 358 7818
GOODYEAR 3B14-359
: CONTITECH FT 530-32 325
- ’ /
@-BoLD/sTuUD @) BLIND NUT COMBINATIONS STUD &X)AIR INLET AKRAFT &



I
STYLE

BB - 356 www.airkraft.com.tr

Top View Bottom View

@350mm

290 mm

ARG
W 9

REFERENCEORDER NO DESCRIPTION i )

116055 §11140068 iRubber bellow only
115062 §11140078

J

ADAPTABLE CROSS Refererce | Order NO | ADAPTABLE CROSS N\
115062 : 11140078 'FIRESTONE WO01-358-7797
| CONTITECH FT 530-32 535

HENDRICKSON 1346

\_

/Reference | Order No
116055 | 11140068 :CONTITECH  FT 53032

| FIRESTONE FLEX 313

{ GOODYEAR FLEX 578-93-3-350

B/ A\OKRAFT @ -BoLD/sTUD @) BLIND NUT COMBINATIONS STUD AR INLET



www.airkraft.com.tr

STYLE

3B - 357

Top View Bottom View
@350mm
0 1‘
] —+- —
C
REFERENCE ORDER NO! DESCRIPTION 2 )
116051  : 11140063 : Rubber bellow only
115067 | 11140079 g
115063 | 11140080
115038  : 11140024 !
115039 : 11140025 :
115049 11140081 : Top/bottom plate M8 (Blind nuts) {G1
115050  : 11140082 : Top/hottom plate M8 (Blind nuts) GL/4
115068 | 11140033 ! :
115065 : 11140083
115064 | 11140084 |
\ 115069 11140085 : L)
( Reference | Order No ADAPTABLE CROSS Reference : Order NO ! ADAPTABLECROSS
116051 11140063 : CONTITECH FT 530-35 115068 $11140033 :FIRESTONE W01-358-7855
: {FIRESTONE FLEX 333 § {CONTITECH FT 530-35 522
115067 | 11140079 :FIRESTONE W01-358-7845 115065 $11140083 :FIRESTONE W01-358-7848
i {CONTITECH T 53035 521 : 'CONTITECH ~ FT 53035 439
115063 | 11140080 :FIRESTONE W01-358-7838 : {GOODYEAR 3B14-360
: ! CONTITECH FT 530-35 436 115064 $11140084 iFIRESTONE W01-358-7839
; { GOODYEAR 3B14-356 ’ {CONTITECH FT 530-35 437
115038 511140024 i : GOODYEAR 3B14-359 / 444
115039 : 11140025 115069 11140085 :FIRESTONE W01-358-7853
115049 | 11140081 : ; | CONTITECH FT 530-35 537
115050 11140082 | ’
\ J
@-BoLD/sTuUD @) BLIND NUT COMBINATIONS STUD &X)AIR INLET NEKRAFT



STYLE

3B-357

@350mm

(C \

AIRKRAFT 3B-357

.

(////////////f{/{{(llll |
&\

P

290mm

www.airkraft.com.tr

Top View

Bottom View

‘ \ \
(REFERENCEIORDER NO DESCRIPTION )
116051 11140063 :Rubber bellow only
115066 ;11140086 |
o J
/Reference | Order No' ADAPTABLE CROSS Reference | Order No ! ADAPTABLE CROSS
116051 : 11140063 : CONTITECH FT 530-35 115066 ! 11140086 ' FIRESTONE W01-358-7850
 FIRESTONE FLEX 333 { CONTITECH FT 530-35 441
: { GOODYEAR 3B14-370/ 452
B/ AOKRAFT @-BoLD/sTUD @) BLIND NUT COMBINATIONS STUD X)AIR INLET



?368mm

www.airkraft.com.tr

Al

-— Top View

1

4
AIRKRAFT 3B 370

..
(NN NN N

275 mm

STYLE

3B-370

Bottom View

I
REFERENCE (ORDER NO! DESCRIPTION R i@ )
Two Ply Bellows
116100 |11140065 :Rubber bellow only : :
115103 {11140041 iTop/Bottom plate M10 (bolts) | M22X1,5 ! center
115104 11140042 iTop/Bottom plate M10 (bolts) M22X1,5: 170 mm
115105  :11140043 :Top/Bottom side only clamp ring M10 :
115108 | 11140046 :Top/Bottom plate M10 (polts) RpL2 | center
115109 11140047 :Top/Bottom plate M10 (holts) {Rp1/2 170 mm
o J
/Reference | Order No ADAPTABLE CROSS Reference | Order No ADAPTABLE CROSS
116100 §11140065 iCONTITECH FT 614-36 S 115108 511140046 :CONTITECH FT 614-36 1/2M10
: : DUNLOP(FR) 14" x 3 SP 2007 : :DUNLOP(FR) 14" x 3 SP 1558
115103 11140041 CONTITECH FT 614-36 S 115109 11140047 EWEFORMA WBD-G 590
f : DUNLOP(FR) 14" x 3 SP 22799 : ‘NORGREN M/31143 (14"%x 3)
115104 11140042 ECONTITECH FT 614-36 S :CONTITECH FT 614-36
: : DUNLOP(FR) 14" x 3 SP 2547 :DUNLOP(FR) 14" % 3
115105 11140043 CONTITECH FT 614-36 :
' DUNLOP(FR) 14" x 3 SP 2169
o /
@ BoLD/STUD @) BLIND NUT COMBINATIONS STUD &AIR INLET %) E:ES,ITAQF({: ET0 AIRKRAFT



STYLE

3B-370HYD

www.airkraft.com.tr

- @368mm — Top View Bottom View
A A i
C T el [
- AIRKRAFT 3B 370-Hyd
C
LT ] £
AAAUAATARTARRR RN Y 2
C
L ]
A
( L] !
I i
REFERENCE !ORDER NO DESCRIPTION 2

High Strength Bellows

116101 i 11140066 :Rubber bellow only : !
115100 11140038 iTop/Bottom plate 8x M10 (bolts) M22X1,5 center
115101 | 11140039 :Top/Bottom plate 8XMZ0 (bolts) | M22X1,5 170 mm
115102 11140040 iTop/Bottom side only clamp ring 8xM10
115106 | 11140044 iTop/Bottom plate 8xM10 (holts) {Rp 12 center
115107 | 11140045 :Top/Bottom plate 8xM10 (bolts) {Rp1/2 1170 mm
115110 11140048 :Top/Bottom side only clamp ring 4XM10 Bolts i ;
115111 | 11140049 :Top/Bottom plate 4XM10 (bolts) {Rp1/2  :center
Q15113 11140050 ETop/Bottom side only clamp ring 12XM8 bolts ' I /
/Reference | Order No ADAPTABLE CROSS Reference | Order No ADAPTABLE CROSS
116101 : 11140066 : CONTITECH FT 614-36 S 115110 | 11140048 :CONTITECH FT 614-36 S
f :DUNLOPFR)  SP 2007 RE : {DUNLOP(FR) 'SP 2169 RE
115100 :11140038 : CONTITECH FT 614-36 115111 $11140049 : CONTITECH FT614-36 S
i : DUNLOP(FR) 14"% x 3RE f :DUNLOP(FR) SP 2526 RE
115101 | 11140039 :CONTITECH FT 614-36 S 115113 :11140050 :CONTITECH FT 614-36 S
: : DUNLOP(FR) 14" x 3 RE ; : DUNLOP(FR) SP 2169 RE
115102 §11140040 | CONTITECH FT 614-36 ’
 DUNLOP(FR) 14" x 3 RE
115106 ;11140044 CONTITECH FT 614-36 S
§ : DUNLOP(FR) SP 2008 RE
115107 11140045 : CONTITECH FT 614-36 S
: DUNLOP(FR) 14" x 3 RE
NG . J
B ARKRAFT @soL/stwp @) BLIND NUT COMBINATIONS STUD &) AR INLET %] 8?@@'& 10



www.airkraft.com.tr

STYLE

3B -400HYD

B @406mm _ Top View Bottom View
Y f I L
N T el
AIRKRAFT 3B-400-Hyd
C
. £ ‘
AL R
C @282mm
-
NN
£ .\ !
f v
(REFERENCE IORDERNO) DESCRIPTION 2 | 2 )
Two Ply Bellows :
116151 511140067 iRubber bellow only ; !
115150  $11140051 iTop/Bottom plate 8XMZ0 (bolts) | M22XL,5 ! center
115151 511140052 iTop/Bottom plate 8xM10 (bolts) M22X1,5: 170 mm
115152  :11140053 :Top/Bottom side only clamp ring 8xM10 :
115153 111140054 {Top/Bottom plate 8xM10 (bolts) {Rp1/2 | center
115154 11140055 :Top/Bottom plate 8xM10 (bolts) {Rp1/2 1170 mm
115155  :11140056 :Top/Bottom plate 4XM10 (bolts) {Rp1/2 : center
/Reference | Order No' ADAPTABLE CROSS Reference | Order No ADAPTABLECROSS
116151 :11140067 :DUNLOP(FR) 16"x 3RE 115153 511140054 :DUNLOP(FR) 16"x3 RE-SP 2156
115150 511140051 : DUNLOP(FR) 16"x 3RE 115154 211140055 EDUNLOP(FR) 16"x3 RE-SP 2156
115151 $11140052 :DUNLOP(FR) 16"x 3 RE 115155 11140056 :DUNLOP(FR) 16"x3 RE-SP 2141
115152 11140053 : DUNLOP(FR) 16"x 3 RE ' '
DISTANCE TO
@-BoLD/sTUD @) BLIND NUT (&) COMBINATIONS STUD &) AR INLET D CENTER ADKRAFT &






CROSS REFERENCE

| Reference | Order No [PageNo

OEM REFERENCES

CROSS REFERENCE

| Reference | Order No [PageNo

AMERICAN CARRIER

8003-006 113067 i11120029|9

8003-005 113503 1112018440
BENALU

M 002297 115004 1114000252
M 063 796 113301 1112004726
BINKLEY

XB-SPN-053-37 113341 11120066/ 34
BPW

02.2002.05.00 114250 :11120152| 25
05.429.00.01.0 113250 (11120045 25
02.2002.19.00 113306 11120049 28
05.4290.00.40 113150 :11120042|22
05429 00 040 114150 (1112015022
BUSSING

546905134/831120120 113306 :11120049| 28
BARTOLETTI

91621322 115005 1114000352
CARD

580553800 113361 :11120079|44
DAF(TRUCK)

654464 113001 (1112000114
DAF

654464 113017 :11120014|15
1192203 114150 :11120150|22
1307058 113453 1112010140
DIEBOLT

2799070 115104 1114004264
DAIMLERCHRYSLER

688.320.7021 113547 11120136|19
DAYTON

354-6910 113017 1112001415
354-6902 113027 11120018 15
354-6905 113028 :11120019| 15
DINA

A-8127-19 113017 1112001415
EZ RIDE

8030190 113490 :11120123|29
8030160 113480 38
8030170 115061 :11140032| 60
8030180 115070 :11140034)60
8030155 115034 1114002354
EZ RIDE HOLLAND(NEWAY)

90557039 113503 :11120184|40
EVELEY

RA 1990-1 113454 :11120102) 41
FRUEHAUF

MO07824G 113330 11120062 35
VFA 2520-1 115104 11140042 64
F48054M80A04 113060 :11120027|11
GT FRUEHAUF

J40 108 M08 A0S 113359 11120078 43
M002297 115004 1114000252
U.JB 09 85/A 113301 (1112004726
FREIGHTLINER

16-11378000 113334 :11120064) 27
16-10769-000 113333 1112006329
FACCHINI

03.08.5017.11 113477 1112011328
03.08.5017.02 115038 1114002462
GIGANT

196028 113053 111200229

196028 113054 :11120023|9

190130 113482 :11120117)14
881202 113300 11120046/ 26
881205 113358 :11120077|43
881204 115003 :11140001|52

AIKRAFT

GRANNING

15801 114050 111201459
196028 113052 111200219
16036 113053 111200229
15947 114001 1112014313
15603 113001 :11120001| 14
A06030604 113004 $11120004| 14
1371 113017 $11120014| 15
4848 113027 11120018| 15
1371/15603 113482 :11120117|14
A06030604 113002 :11120002| 16
15670 113010 11120009 20
15710 113011 :11120010| 21
15670 113473 11120109 20
16051 114150 :11120150| 22
15710 114151 :11120151|22
15808 114100 i11120149|23
15807 113100 :11120038| 23
15853 113101 11120039 23
15853 114250 1112015225
15603 114300 :11120153| 26
15813 113300 :11120046| 26
15814 113301 11120047 26
15863 113305 :11120048| 26
15646 113308 :11120051|29
15646 113312 11120055 28
2726 113333 :11120063| 29
2725 113339 :11120065| 27
1218 114302 :11120155| 33
1613 115059 11140076/ 60
1218 113311 :11120054| 33
1218 113493 :11120178|33
1218 113450 11120098 40
16022 113453 1112010140
15647 113454 :11120102| 41
1015/15663 113464 i11120107|41
1626 113466 11120108 40
15823 114350 :1112015743
15822 113354 1112007343
15821 113358 (1112007743
15882 113359 :11120078) 43
15822 113356 i11120075| 44
15831 114400 1112015945
17017 113403 :11120085| 45
15830 113404 11120086 45
17015 113405 1112008745
15829 113408 :11120090| 45
15830 113409 1112009145
17015 113407 11120089 46
15809 115055 1114002951
15830 115056 (1114003051
15818 116001 :11140057|52
15816 115003 1114000152
15897 115004 :11140002| 52
15830 116003 1114005952
8221/702932-01 115037 (11140071|55
17017 115008 :11140005|59
17040 115009 1114000658
15673 115010 :11140007)58
15827 115103 :11140041|64
15824 115108 :11140046| 64
15827 115106 1114004465
15827 115111 :11140049| 65
15833 116151 :11140067| 66
15832 115155 11140056/ 66
4514 115060 1114007760
1014 115070 :11140034|60
15803/A06030604 113060 :11120027)11




CROSS REFERENCE

| Reference | Order No [PageNo

OEM REFERENCES

CROSS REFERENCE

| Reference | Order No |PageNo

LOAD GUARD

SC2132 115027 1114001756
SC2011 113017 1112001415
SC2010 113027 1112001815
SC2071 113028 1112001915
SC2123 113013 1112001220
SC2122 113502 1112013020
SC2023 113334 11120064 |27
SC2075 113490 (1112012329
SC2079 113480 1112018038
SC2013 113454 1112010241
SC2015 113464 1112010741
SC2014 113466 1112010840
SC2017 113503 1112018440
SC2130 115034 11140023 | 54
SC2029 115059 1114007660
SC2031 115061 1114003260
SC2032 115070 1114003460
SC2030 115060 (1114007760
LOHR

Y00001137 113305 :11120048| 26
A06030606 115004 1114000252
A06030605 115104 11140042 |64
Y00001737 114300 :11120153|26
A0630601 113301 :11120047| 26
MERCEDES

A9423270601 113004 11120004 |14
MERITOR

21221395-21222663 113001 :11120001|14
21221395 113004 11120004 |14
21221356 113010 1112000920
21221356 113012 :11120011|20
21226068(ROR MERITOR) 113342 11120067 |33
MACK

570L239 113495 :11120181|40
227Q5-32&570K1113 113067 111200299
MAN

81436010022/88964200217

114250 1112015225

81436010022

113306 :11120049) 28

GUERRA
5002 004 018000 113325 11112005933
5002 004 062000 115023 111140015]56
5036002015006 113475 1112011117
IVECO

240/36 42107595 115005 1114000352
JOST

AD0076 113474 11120110] 15
AD0135 1112017211120166] 49
HENDRICKSON

NA 1821 113053 111200229
HS507907/P 113015 11120013] 12
45843-3/B-8768 113017 11120014]15
NA 1816 113308 111120051 29
NA 1816 113312 11120055| 28
3184 113464 11120107]41
NA1860/B1159/B2883 113339 11120065| 27
HS507906/P 113320 11120058] 32
NA 1816 113306 11120049 28
2630 113027 11120018]15
10170 113334 11120064 | 27
12514-001 113339 111120065] 27
2734 113480 11120180] 38
12514-014 113454 1112010241
1080 113466 1112010840
13046 113503 1112018440
13039 115059 1114007660
13157 115061 1114003260
13041 115070 11140034/ 60
14395 113067 1111200299
13035 113493 1112017833
13038 113495 1112018140
HENDRICKSON TRAILER

52630/82630 113027 11120018|15
S3518/S5270/45843-1 113028 111120019| 15
S1013/C1013 113333 11120063 29
510170 113334 111120064 | 27
AS-0007/52883 113339 11120065| 27
59830 113316 1112017733
2734 113480 11120180| 38
51080 113466 1112010840
512405 115016 1114001254
511637 115034 1114002354
S6861 115070 11140034/ 60
53184 113464 111120107|41
HENDRICKSON AUX

1346 115062 11140078| 61
HENDRICKSON CAN

B-12514-014 113454 1112010241
HOLAND HITCH

4514 115060 11140077|60
HOLLAND(NEWAY)

90557228 113501 11120129]16
HISTEER

10315 113341 11120066 34
10300 115070 11140034/ 60
KASSBOHRER

473 1003000 114250 11120152 25
KAISER

A 06030615 113301 11120047| 26
A06030616 114300 11120153 26
A06030616 113305 11120048| 26
Y11000603 113355 1112007443
Y11 00063 113357 11120076/ 44
WC 074 0236 115155 11140056| 66
LINK

1103-0057 115062 11140078| 61

81436010023 114150 :11120150] 22
MAGIRUS

3452571 113306 :11120049| 28
0342 2571 114250 :11120152|25
0342 2652 114150 :11120150] 22
METRO BUS

X 6641055 114300 1112015326
NEWAY

90557237 113502 11120130120
90557001/M05 57 003 113454 1112010241
NAVI STAR

554783C1 113017 :11120014]15
554784C1 113027 11120018 15
1685175C1 113028 1112001915
554792C1 113334 11120064 | 27
554787C1 113339 11120065 27
1685179C1 113490 1112012329
1685183C1 113480 1112018038
554800C1 113454 1112010241
554799C1 113464 1112010741
554798C1 113466 1112010840
554797C1 113503 :11120184|40
554802C1 115059 1114007660
554803C1 115070 1114003460
PEGASO

528919 5266/5231/5236 113001 1112000114
PEERLESS

0550-00001 113490 :11120123|29
0550-00030 115061 1114003260

AIKRAFTE



CROSS REFERENCE

| Reference | Order No [PageNo

OEM REFERENCES

CROSS REFERENCE

| Reference | Order No [PageNo

PEZZANI

AR-21-A 113454 :11120102| 41
PREVOST

63-0173 113017 $11120014| 15
PORCUPINE

REPLACES 7142 113464 :11120107|41
ROR

21221395-21222663 113001 :11120001|14
21221356 113473 :11120109| 20
21221395-21222663 114151 :11120151| 22
RIDEWELL

1003586948C 111001 :11101001| 1
1003586902C/S11728C 113027 311120018 15
1003586905C/52845C 113028 :11120019| 15
1003586900C 113487 :11120120] 15
1003586910C/54512C 113017 :11120014| 15
1003587400C 113333 11120063 29
1003587403C 113339 11120065 27
1003587180C 113490 1112012329
1003587443C 113311 $11120054| 33
1003587443C 113493 :11120178| 33
1003586805C 113479 :11120115| 38
1003586801C 113480 :11120180] 38
1003587443C 113450 311120098 40
1003587135C 113454 :11120102) 41
1003587140C 113464 :11120107)41
1003587136C 113466 :11120108| 40
1003587145C 113495 :11120181|40
1003587146C 113503 :11120184| 40
1003588008C 115034 i11140023| 54
1003588010C 115035 1114007456
1003588016C 115036 :11140072| 55
1003587800C 115060 $11140077|60
1003587808C 115061 :11140032| 60
1003587818C 115070 :11140034| 60
1003586948C 113013 $11120012| 20
S4302C 113339 :11120065)| 27
S-5844C 115035 :11140077|56
RANDON

212100273 114301 :11120154| 27
218004237 113482 :11120117)|14
212100072 116008 :11140062| 54
R&S TRUCK&BODY

1027505 113027 :11120018| 15
1090214 113464 :11120107)41
1027556 113466 i11120108| 40
RECRUSUL

10079932 114302 :11120155| 33
ROLFO

112273 115009 :11140006| 58
112273 115030 :11140020| 58
RVI BUS

VSM 10176 114100 :11120149|23
ROWE TRUCK

0270 115062 11140078 61
RANDON

212100278 113475 :11120111)17
212007153 11120171 47
260000552 11120166 49
212007152 11120172 50
RECRUSUL

10079887 11120171 47
10079904 114052 :11120173| 8
SAUER

P10-754 113067 i11120029|9

SAMRO

H2500188 113060 :11120027)11
H 250-0021 113100 :11120038| 23
250-0012 114350 $11120157|43

B AIRKRAFT

250-0012 113353 {11120072|43
H250-0011 115004 11114000252
SAMPRO

2500013 114400 1112015945
SUSPENTECH

ST852 113475 (1112011117
ST853 113474 11120110/ 15
SAF

1600 4.229.1004.00 113002 (11120002| 16
45.98.00.5419.2 113003 (11120003| 15
1319761 113011 i11120010| 21
1319761 113038 11120020] 21
1319761 114151 11120151[22
2.229.1001.00 113306 (11120049| 28
2.229.1001.00 113312 11120055] 28
3.228.1002.01 113403 11120085] 45
3.228.1002.01 115008 11140005] 59
SAF HOLLAND

570-06-910 113017 (1112001415
570-06-902 113027 111120018]15
905-57-228 113501 i11120129]16
905-57-237 113502 i11120130] 20
905-57-016 113333 |11120063] 29
570-07-410 113334 (11120064 | 27
570-07-180 113490 (11120123|29
570-06-801 113480 11120180/ 38
905-57-001 113454 (1112010241
570-07-140*905-57-257 113464 11112010741
570-07-136 113466 (11120108|40
905-57-039*024 113503 11120184]40
570-08-008 115034 11114002354
570-07-798 115059 (1114007660
570-07-800 115060 (11140077|60
570-07-808 115061 :11140032| 60
570-07-818 115070 (1114003460
SCANIA

131 9761-138 7289 113002 i11120002| 16
1387283 113018 (11120015| 16
1387283 113011 (11120010| 21
1387283 113038 11120020] 21
1387283 114151 (1112015122
1510249 113329 1112006130
1503813-7317 113554 (1112014130
SCANIA(TRUCK)

1304528 113333 11120063 29
SMB/SUSPENSIONS INC.

M002297 115004 :11140002|52
200620 115027 1114001756
200835 113502 111120130| 20
SILENT DRIVE

AS 6882 113028 1112001915
AS-8025 115034 (1114002354
AS-7800 115060 1114007760
AS-7818 115070 1114003460
SILPA

2210200015 11120171 47
2110200003 11120172| 50
SPRING VALLEY

AS-4429 113013 (11120012| 20
AS-4426 113502 11120130/ 20
AS-4413 115016 1114001254
TRIANGLE

4342 113503 11112018440
4413 115016 i11140012|54
4433-4434 115036 1114007255
4520-6334 115037 1114007155
4546-6334 115072 11140070] 54
4336-6319 115061 11140032| 60
4535-6319 115062 11140078] 61




CROSS REFERENCE

| Reference | Order No [PageNo

OEM REFERENCES

CROSS REFERENCE

| Reference | Order No |PageNo

WEWELER

US07394F 113010 $11120009| 20
US 07394F 113012 :11120011| 20
US07394 113473 :11120109| 20
US 06910F 114151 :11120151|22
USN 5100 11 KD 113300 :11120046| 26
US 07880F 113452 :11120100|41
USN 5100 10DX 113358 :11120077|43
USN 5100 08DX 113408 :11120090| 45
USN 510016D 115055 :11140029|51
USN 5100 18 KD 115108 :11140046| 64
WATSON&CHALIN

AS-0030 113067 :11120029| 9
AS-0001 113017 :11120014| 15
AS-0058 113026 :11120017|18
AS-0002 113027 :11120018| 15
AS-0020/AS-0110 113028 :11120019| 15
AS-0041 113502 i11120130| 20
AS-0003 113333 11120063 29
AS-0007/AS-0068 113339 :11120065| 27
AS-0027 113311 11120054 33
AS-0087 113341 11120066 34
AS-0027 113493 :11120178| 33
AS-0123G 113479 :11120115)|38
AS-0021 113480 :11120180| 38
AS-0034 113499 :11120127|38
AS-0034 113500 :11120128)38
AS-0027 113450 11120098 40
AS-0008 113464 :11120107|41
AS-0004 113466 :11120108| 40
AS0048 115016 :11140012|54
AS0019 115034 :11140023| 54
AS0019-1F 115072 :11140070| 54
AS-0025/-0033 115070 i11140034| 60
AS-0006 115059 :11140076| 60
WARREN

8030170 115061 i11140032| 60
ZORZ|

1006500 114150 :11120150| 22
1006506 115005 1114000352

4430/4503 115027 :11140017|56
4431/4469/6334 115034 :11140023| 54
4319 113487 :11120120| 15
4318 113339 (11120065 27
4363 113490 :11120123|29
4396 113316 :11120177| 33
4480 113341 :11120066] 34
4451 113480 :11120180| 38
4311 113454 :11120102| 41
4316 113464 :11120107| 41
4321 113466 :11120108| 40
4432 115035 :11140074| 56
4329 115059 :11140076| 60
6392/4509 113067 :11120029| 9
4320 113017 (1112001415
4505 113026 :11120017|18
4310 113027 11120018 15
4315 113028 i11120019| 15
4539/6325 113501 :11120129|16
4429/6332 113013 :11120012| 20
4426 113502 i11120130| 20
4313 113333 :11120063| 29
4331 113334 11120064 27
4532/6336 113479 :11120115|38
4518/6336 113499 :11120127| 38
4519/6336 113500 11120128 38
4374 113495 1112018140
4333 115060 :11140077| 60
4325 115070 :11140034| 60
TERBERG

21074519 113001 11120001 14
21074519 114151 :11120151|22
TOUGHLINE

15670 113010 i11120009| 20
15670 113012 :11120011|20
1218 113311 :11120054| 33
1218 113493 11120178 33
1218 113450 :11120098) 40
17040 115009 :11140006| 58
15673 115010 :11140007|58
TRES EIXOS

8927 113325 i11120059| 33
TRUCKSTELL/MARION MFG.

63641/63644 113454 :11120102| 41
63640 115061 i11140032| 60
TRUCK

35203-0005 113495 1112018140
TROUILLET

HB 10350 113301 :11120047| 26
1001270 113351 :11120070| 44
UNIFERRO

02012400 11120171| 47
26060002 11120166| 49
02011700 11120172| 50
VOLVO

1199733 8127151 365461 114001 :11120143|13
6882797 113001 :11120001| 14
365461/B 58 -365431 113001 :11120001| 14
365461 BUS B58 113482 :11120117|14
3159288 113546 :11120135|13
6882797/365461 114151 :11120151| 22
6882797/365461 113150 :11120042| 22
85101146 113028 :11120019| 15
85101158 113334 11120064 27
VIBERTI

128118102 113361 i11120079| 44
128118103 115005 :11140003| 52

LIRKRAFT






CROSS REFERENCE

| Reference | Order No [PageNo

CROSS REFERENCES

CROSS REFERENCE
FD 330-22 313

| Reference | Order No [PageNo
113333 111120063 | 29

FD 330-22 331

113334 111120064 | 27

FD 330-22 318 113339 11120065 | 27
FD 330-22 363 113490 1112012329
FD 331-26 480 113341 11120066 | 34
FD 331-26 541 113343 11120068 | 34
FD 530-30 532/707 113479 1112011538
FD 530-30 451 113480 1112018038
FD 530-30 518 113499 11120127 | 38
FD 530-30 519 113500 11120128 38

FD 530-22 2682 075000

113453 11120101 | 40

FD 530-22 311

113454 11120102 |41

FD 530-22 61362

113460 11120105 | 41

FD 530-22 316

113464 11120107 | 41

BOSCH
1915041000 111001 111010011

822419002 111002 11101002| 2

822419003 111003 $11101003| 3

822419008 111005 $11101005| 3

822419004 111004 11101004/ 4

822419009 111006 :11101006| 4

822419042 113053 111200229

822419062 113054 1111200239

822419043 113004 11120004 14
822419063 113482 11120117[14
822419049 113484 11112011920
822419044 113306 $11120049| 28
822419064 113313 111120056/ 28
822419045 113453 $11120101[40
822419065 113460 1112010541
822419081 115032 11140022 58
822419082 115054 $11140028| 60
CONTITECH

FS 70-7 2681 015 000

111002 11101002

FS 120-9 60479

112004 :11101015

FS 120-9 2681 030 000

111003 :11101003

FS 1209 61358

111005 11101005

FS 200-10 60319

112005 11101016

FS 200-10 2681 045000

111004 :11101004

FS 50-5 62242

112002 11101013

FS50-5 61388

FS 70-7 60512

112003 :11101014

FS 200-10 60030

111006 11101006

2
3
3
3
4
4
1
111001 11101001 %
4
9
9
9
9
9

603 N 114050 :11120145
603 N 113052 11120021
FD-120-17 _2682 030000 113053 11120022
FD 120-17 61361 113054 111120023
FD 120-20 509 113067 11120029
FD 138-18S 114051 (1112014611
FD 138-18 1/2M10 113060 :11120027|11

FD 200-19S 895N

114001 :11120143| 13

FD 200-19 1/4 60336

113001 :11120001| 14

FD 200-19 2682 045000

113004 :11120004| 14

FD 200-19 320

113017 :11120014| 15

FD 200-19 505 113026 :11120017| 18
FD 200-19 310 113027 :11120018| 15
FD 200-19 315 113028 :11120019| 15

FD 530-22 321 113466 11120108 | 40
FD 530-22 374 113495 11120181 |40
FD 530-22 342 113503 11120184 | 40
FD 530-22 2682 113452 11120100141
FD 614-26 114350 11120157 | 43
FD 614-26 113353 11120072 | 43
FD 614-26 113354 11120073 | 43
FD 614-26 113355 11120074 | 43
FD 614-26 113358 11120077 | 43
FD 614-26 113359 11120078 | 43
FD 614-26 114351 11120158 | 44
FD 614-26 113350 11120069 | 44
FD 614-26 113351 11120070 | 44
FD 614-26 113352 11120071 | 44
FD 614-26 113356 11120075 | 44
FD 614-26 113357 11120076 | 44
FD 614-26 113361 11120079 | 44
FT 210-32 115055 111140029 | 51
FT 210-32 115056 111140030 51
FT 412-32 115003 :11140001 | 52
FT 412-32 115004 11140002 | 52
FT 412-32S 115007 111140004 | 52
FT 412-32S 116003 11140059 | 52
FT 412-32S 115005 11140003 | 52
FT 412-32 S 115011 11140008 | 52
FT 412-32 S 115012 11140009 | 52
FT 412-32S 115013 11140069 | 52
FT 330-29 413/547 115016 111140012 | 54

FD 200-19 60336

113482 :11120117|14

FT 330-29 430/498/503/702

115027 11140017 | 56

FD 200-19 319

113487 :11120120| 15

FT 330-29 773

115033 :11140073 | 56

FD 200-19 539

113501 :11120129| 16

FT 330-29 431/469

115034 111140023 | 54

FD 200-19 P04 895 N

113002 :11120002| 16

FT 330-29 432

115035 11140074 | 56

FT 330-29 433/722

115036 11140074 | 55

FD 200-25 113010 :11120009| 20
FD 200-25 429 113013 :11120012| 20
FD 200-25 113473 111120109| 20
FD 200-25 113476 :11120112|21

FD 200-25 60382

113483 :11120118| 20

FT 330-29 520/723 115037 11140071 | 55
FT 330-29 546 115072 11140070 | 54
FT 330-29 S 116004 11140060 | 58
FT 330-29 P01 115008 11140005 | 59

FD 200-25 60555

113484 111120119| 20

FT 330-29 61830

115024 111140016 | 58

FT 330-29 61831

115032 111140022 | 58

FT 530-32 116055 11140068 | 60
FT 530-32 336 115061 11140032 | 60
FT 530-32 60717 115054 111140028 | 60

FT 530-32 325

115070 11140034 | 60

FT 530-32 333

115060 11140077 | 60

FT 530-32 535

115062 11140078 | 61

FD 200-25 113488 :11120121| 20
FD 200-25 113489 :11120122| 20
620 N Hydro 114151 {11120151| 22
620 N Hydro 113150 11120042 22
620N 114150 :11120150| 22
FD 210-22 S 114100 :{11120149| 23
FD 210-22 1/2 M10 113100 :11120038| 23
608 N 114250 :11120152| 25
608 N 113250 {11120045| 25
FD 412-18 S 114300 :11120153| 26
FD 412-18 1/2 M10 113300 :11120046| 26
FD 412-18 113301 :11120047| 26
FD 412-18 113305 :11120048| 26
FD 330-22 _2682 060000 113306 {11120049| 28
FD 330-22 113308 :11120051| 29

FD 330-22 60031

113313 {11120056| 28

@ AIRKRAFT

FT 530-35 116051 11140063 | 62
FT 530-35 521 115067 11140079 | 62
FT 530-35 436 115063 111140080 | 62
FT 530-35 522 115068 11140033 | 62
FT 530-35 439 115065 11140083 | 62
FT 530-35 437 115064 11140084 | 62
FT 530-35 537 115069 11140085 | 62
FT 530-35 441 115066 11140086 | 63
FT 614-36 S 116100 11140065 | g4
FT 614-36 S 115103 11140041 | 64




CROSS REFERENCE

| Reference | Order No |PageNo

CROSS REFERENCES

CROSS REFERENCE

|Reference | Order No [PageNo

16 x 2 RE 113406 i11120088| 46
16X 2RE 113407 111120089 46
SP 1539 (10x3) 115055 11140029 51
SP 1015 (10x3) 115056 i11140030| 51
12x3  SP 259 116001 1114005752

12x3 SP 1542

115003 11140001 52

12x3 SP 2666 NB

115004 11140002 52

SP 1033 NB 115007 1114000452
12x3RE 116003 11140059 52
SP 2597 RE (12x3) 115005 11140003 52
12 x 3RE SP 1542 NB 115011 1114000852
12 x 3 RE SP 2666 NB 115012 11140009 52

12x3 SP 2271 RE(12x3)

115013 11140069 | 52

12X3 RENB SP 12350

115009 11140006 58

$12302 (12"x3 NB)

115010 11140007 58

14 % x 3 SP 2007 116100 11140065 | 64
14 % x 3 SP 22799 115103 11140041 64
14 % x 3 SP 2547 115104 11140042 | 64
14 % x 3 SP 2169 115105 :11140043| 64
14 % x 3 SP 1558 115108 11140046 64
14% X 3RE 115109 11140047 | 64
SP 2007 RE 116101 11140066 | 65
14 % x 3RE 115100 :11140038 | 65
14% x 3RE 115101 :11140039| 65
14 % x 3RE 115102 i11140040| 65
SP 2008 RE 115106 11140044 | 65
14 % x 3RE 115107 11140045 65
SP 2169 RE 115110 11140048 | 65
SP 2526 RE 115111 :11140049 | 65
SP 2169 RE 115113 11140050 65
16 x 3RE 116151 11140067 | 66
16 x 3RE 115150 11140051 66
16 x 3RE 115151 11140052 | 66
16 x 3RE 115152 i11140053 | 66
16 x 3 RE SP 2156 115153 11140054 | 66

16x3 RE SP 2156

115154 :11140055 | 66

16X3 RE SP 2141

115155 :11140056 | 66

FT 614-36 S 115104 i11140042| 64
FT 614-36 115105 11140043] 64
FT 614-36 1/2 M10 115108 111140046] 64
FT 614-36 115109 111140047/ 64
FT614-36 S 116101 11140066 65
FT614-36 S 115100 11140038] 65
FT 614-36 S 115101 111140039] 65
FT614-36 S 115102 i11140040] 65
FT614-36 S 115106 {11140044] 65
FT 614-36 S 115107 11140045| 65
FT614-36 S 115110 (1114004865
FT 614-36 S 115111 111140049] 65
CF GOMMA

322 BB 204413 115028 111140018] 58
322 BB 204450 115029 111140019] 58
DUNLOP (FR)

8"x1 508101 111003 1111010033
8"x1 508100 111005 11101005|3
9"1/4x1 509101 111004 111101004] 4
6"x2 SP 917 114053 1111201476
6"x2 113070 1111200316
DB 06219 113071 1111200326
6"x2 113072 1111200336
6"x2 SP 1482 113073 1111200346
6x2" 113075 111120036] 7
S0 8201 113053 1111200229
8"x2 114051 111120146] 11
SP 1490 (8x2) / SP918 113060 111120027/ 11
9" S0 9201 113001 111120001 14
509208 113002 111120002] 16
9" S0 9203 113003 i11120003] 15
S0 9280 113010 111120009] 20
9" x2 SO 9280 113012 11112001120
10"x2 SP 920 114100 i11120149] 23
SP 1538 (10x2) 113100 (11120038] 23
SP 1003 (10x2) 113101 111120039] 23
SP 256 NB 114300 11112015326
SP 1541 NB 113300 111120046] 26
SP 2665 NB(12x2) 113301 111120047/ 26
SP 1025 NB 113305 111120048] 26
512202 113308 11112005129
12"x2 S 12201 113312 i11120055] 28
512280 113311 111120054] 33
122 113326 111120060] 33
512280 113493 111120178] 33
1P 2770 114304 111120156] 35
SP2782 NB 113330 111120062 35
SP 1039 (14x2) 114350 111120157/ 43
14x2 113353 111120072 43
14"1/2 x 2 SP 1988 113354 111120073] 43
SP 1041 113355 111120074 43
SP 1556 113358 111120077/ 43
SP 1988 113359 111120078] 43
14%2RE 114351 111120158| 44
14X 2RE 113350 111120069| 44
14X 2RE 113351 111120070] 44
14X 2RE 113352 111120071 44
14X 2RE 113356 111120075| 44
14X 2RE 113357 111120076| 44
SP 2599 113361 111120079] 44
SP 1194 /1998 114400 111120159] 45
16" x 2 SP 2340 113403 i11120085| 45
16x2 113404 111120086 45
16x2 113405 111120087/ 45
16x2 SP 1557 113408 i11120090] 45
16X 2 RE 114401 111120160 46
16X 2 RE 113400 111120082] 46
16 X 2 RE 113401 i11120083] 46
16 X 2 RE 113402 111120084] 46

FIRESTONE FLEX
16 112002 111010131
116 112004 111010153
115 112005 111010164
131 112003 :11101014|2
26 114050 :11120145|9
20 114001 11120143|13
257-1 113508 1112013324
22 114301 11120154 27
22-15 114302 11120155] 33
228-15 113545 1112013434
233-2 113507 :11120132| 36
21-2 113479 11120115| 38
21 114450 1112016139
205 114452 11120163| 41
38R/38D 116008 11140062 54
313 116055 11140068 60
333 116051 11140063 62
FIRESTONE
W01 358 0010 112002 111010131
W01 M58 6140 111001 :11101001|1
W01-358-0131 112003 i11101014|2
W01 358 0133 112004 11101015|3
W01 M58 6165 111003 :11101003] 3
W01 M58 6166 111005 :11101005] 3
W01-358-0118 112005 :11101016|4
W01 M58 6374 111004 111010044
W01 M58 6375 111006 111010064
W01 358 0142 114050 (11120145|9
W01 M58 6353/026B 095.0275 113054 111200239
W01-358-7325 113067 111200299
W01-358-7327 113068 :11120030|9
T

LIKRAF



CROSS REFERENCE

| Reference | Order No [PageNo

CROSS REFERENCES

CROSS REFERENCE
38R T3 (095.0274

| Reference | Order No [PageNo
115023 1114001556

W01-358-0138/ 095-0009 114001 11120143|13
W01.M58-6887 113001 :11120001] 14
W01 358 6910 113017 1112001415
W01 358 6897 113026 i11120017|18
W01 358 6902 113027 11120018115
W01 358 6905 113028 11120019115
20 T3 095.0313 113474 i11120110]15
20 T3 095.0353 113475 1112011117
20-T3 095.0255 113482 11120117]14
W01-358-6900 113487 :11120120] 15
W01-358-6890 113501 :11120129|16
095.0023 113546 i11120135|13
W01 M58 7894 113002 11120002 16
W01-358-0305 114004 11120144119
W01 M58 7679 113010 11120009 20
W01 M58 6183 113484 1112011920
W01 S05 7182 113011 $11120010| 21
W01 M58 7394 113012 :11120011| 20
W01 358 6948 113013 11120012| 20
W01 M58 6891 113038 i11120020| 21
20-2 T3 095.0256 113473 :11120109] 20
W01-358-6951 113488 11120121|20
W01-358-6952 113489 :11120122| 20
095.0327 113506 i11120131| 20
095.0318 113547 1112013619
W01 095 0175 114100 $11120149] 23
257-1 095.0439 113508 11120133] 24
fole 210 095.0082 113301 11120047 26

W01 358 0226/095.0037/095.0082

114301 i11120154| 27

W01 M58 6381

113308 i11120051| 29

W01 358 8006/8030 115027 1114001756
W01-358-8013 115033 111140073 56
W01-358-8008/8025/8028 115034 i11140023| 54
W01-358-8010 115035 1114007456
W01-358-8016 115036 i11140072] 55
W01-358-7996 115037 11114007155
W01-358-7994 115072 i11140070] 54
095.0154 115086 :11140036/| 57
W01 095 0219 114150 i11120150] 22
38 116004 i11140060] 58
W01 M58 8017 115010 :11140007] 58
W01-358-7798 115059 111400761 60
W01-358-7800 115060 1114007760
W01-358-7808 115061 :11140032] 60
W01-358-7797 115062 :11140078] 61
W01-358-7818 115070 11140034 60
W01-358-7845 115067 i11140079] 62
W01-358-7838 115063 11140080] 62
W01-358-7855 115068 :11140033| 62
W01-358-7848 115065 i11140083| 62
W01-358-7839 115064 11140084 62
W01-358-7853 115069 11140085] 62
W01-358-7850 115066 11140086/ 63
203 11120171 47
095.0358 11120171 47
29 11120172| 50
095.0250 11120172| 50
FESTO

EB-165-65 111002 :11101002| 2
EB-215-80 111003 :11101003| 3
EB-250-85 111004 11101004 4
EB-215-155 113053 11120022|9
EB-250-185 113004 11120004 14
EB-325-215 113313 11120056 | 28
EB-385-230 113460 1112010541
GART

T291/B 112001 :11101017|5
T291/B (291.1.170) 111150 i11101010]|5
T291/2 (291.2.200) 113001 1112000114
T291/2B (291.2.260) 113010 :11120009] 20

T291/B (291.1.170)

113305 i11120048| 26

T271/S 271.3.296

115008 11140005] 59

W01 M58 6200 113309 11120052 | 29
W01 358 7400 113333 11120063 29
W01 358 7410 113334 111120064 | 27
WO1 358 7403 113339 :11120065] 27
2273 095 .0257 113477 11120113 28
W01-358-7180 113490 1112012329
W01-358-7184 113491 1112012429
W01-358-7185 113492 i11120125| 29
W01 358 0259/ 095.0092 114302 i11120155] 33
W01 358 7440 113311 11120054 33
W01-358-7444 113316 11120177 33
22-1.5T3 095.0258 113325 11120059| 33
W01 358 7555 113341 11120066 | 34
W01 358 7550 113343 11120068 34
W01 M58 6875 113342 111120067 33
W01-358-7443 113493 11120178| 33
W01-358-7442 113494 11120179 33
W01-358-7636 113545 1112013434
233-2 T2 095.0362 113478 111120114 37
095.0264 113507 11120132 36
W01-358-6805 113479 i11120115] 38
W01-358-6801 113480 :11120180] 38
W01-358-6800 113499 :11120127] 38
W01-358-6808 113500 :11120128| 38
21-095.0035/W01-358-0213 114450 1112016139

2172 WO01 358 7135

113454 i11120102| 41

W01 358 7140/ W01 681 7110

113464 :11120207] 41

W01 358 7136

113466 i11120108] 40

W01-358-7145 113495 11120181 40
W01-358-7143 113496 11120182 40
W01-358-7144 113497 i11120183] 40
W01-358-7146 113503 :11120184| 40
095.0038 113548 :11120137] 39
W01-358-7929 114452 11120163 41
W01-358 7224 113452 111120100 41
W01-358-7208 113461 11120106 41
W01-358-7221 113498 :11120126|41
095.0047 116008 11140062| 54
W01 358 8032/7995 115016 i11140012] 54

B AIRKRAFT

271.3.298 (T271/S) 115028 111140018| 58
271.3.298 /2 115029 11140019| 58
GOODYEAR

2B 8-550 113052 1111200219
2B 7-540 113053 1111200229
2B8-550 113067 111120029] 9
2B8-552 113068 111120030/ 9
2B 9-200 578923202 114001 11112014313
2B 9-201 113001 111120001] 14
2B9-200 113017 111120014] 15
2B9-229 113026 111120017/ 18
2B9-201 113027 111120018] 15
2B9-206 113028 111120019] 15
556 2 2 8521 113474 111120110] 15
556 2 2 8520 113475 111120111] 17
556 2 2 8649 113482 111120117] 14
2B9-216 113487 111120120] 15
556 2 2 8425 113546 111120135] 13
2B9-287 113002 111120002] 16
2B 9-269 113010 111120009] 20
2B9-251 113013 i11120012] 20
3B14-359 115070 111140034| g0
556 2 2 8656 113473 111120109] 20
556 2 2 8657 113506 111120131] 20
556 2 2 8406 113550 111120139] 20
556 2 2 8418 113547 111120136] 19




CROSS REFERENCES

CROSS REFERENCE

| Reference | OrderNo |PageNo

556 2 2 8736 113508 11120133 | 24
556 2 2 8416 11120186/ 29
556 2 3 8210 114301 11120154 27
2B12-309 113333 11120063 29
2B12-406 113334 111120064 27
2B12-307 113339 i11120065] 27
556 2 2 8442 113477 1112011328
2B12 425 113490 11112012329
2B12-429 113491 1112012429
2B12-318 113492 1112012529
2B12-305 113311 1112005433
2B12-416 113316 (11120177|33
556 2 2 8634 113325 11120059 33
2B12-440 113341 11120066 34
2B12-346 113343 111120068 34
2B12-305 113493 i11120178(33
2B12-419 113494 :11120179(33
556 2 2 8647-YM 9271 113478 11112011437
556 2 2 8451 113507 i11120132|36
2B14-462 113479 11120115(38
2B14-363 113499 i11120127|38
2B 14 114450 1112016139
2B 14-360/556 2 2 8554 113454 i11120102|41
2B14-359 113464 i11120107|41
2B14 356 113466 11120108 40
2B14-354 113495 1112018140
2B14-352 113496 11120182 40
2B14-355 113503 11120184 |40
556 2 3 8411 113548 i11120137|39
3B12-315 /319/329 115016 1114001254
556 3 2 8401 115023 111140015 56
3B12-304 115027 1114001756
3B12-305 115033 11140073 56
3B12-300 115034 11140023 54
3B12-301 115035 (11140074 56
3B12-335 115037 1114007155
3B12-328 115072 11140070/ 54
556 3 2 8534 115086 11140036/ 57
3B14-356 115059 (11140076 60
3B14-356 115063 i11140080] 62
3B14-360 115060 11114007760
3B14-360 115065 :11140083] 62
3B14-359 115070 111140034 60
3B14-350 115061 111140032 60
3B14-359 / 444 115064 11140084 62
3B14-370/ 452 115066 11140086/ 63
GOODYEAR FLEX

556 2 3 8342 113508 111120133 24
578-92-3-309 113333 11120063 29
578-92-3-309 113490 i11120123] 29
578-92-3-309 113491 111120124 29
578-92-3-309 113492 11120125 29
556 2 3 8328 114302 11120155 33
578-92-3-310 113311 111120054 33
578-92-3-356 113479 1112011533
578-92-3-353 113466 11120108 40
556 2 3 8329 113548 1112013739
556 3 3 8334 116008 (11140062 54
578-93-3-100 115027 1114001756
578-93-3-350 116055 11140068 60
556 2 3 8203 11120171 47
556 2 3 8064 11120167 48
556 2 3 8083 11120166/ 49
556 2 3 8350 11120172 50
JARFLEX

7.14 11120166/ 49
6.13 11120167 48

CROSS REFERENCE

| Reference | Order No |PageNo

NORGREN

PM/31081 (8x1) 111003 11101003 |3
PM/31091 (91/4x1) 111004 111101004 |4
M/31062 (6x2) 113075 11120036 | 7
PM/31082 (8x2) 113053 11120022 |9

M/31082 (8x2)

113060 11112002711

PM/31092 (91/4x2)

113004 111120004 | 14

M/31102 (10x2)

113100 11120038 | 23

M/31122 (12x2)

113300 11120046 | 26

PM/31122 (12x2)

113309 11120052 |29

M/31142 (141/2x2)

113358 11120077 | 43

M/31103 (10x3)

115055 11140029 |51

M/31123 (12x3) 115003 111140001 | 52
PM/31123 (12x3) 115082 111140075 | 58
M/31143 (141/2x3) 115108 111140046 | 64
PHOENIX

SP1B05 111002 11101002 |2
SP1B07 111013 11101008 |3
2B 07R 114050 111201459
SP 2B O7R 113052 11120021 |9
SP 2B 12R-12 113015 1112001312
2B 12R 114001 1112014313
SP 2B 12R 113001 11120001 | 14
SP 2B 12R-1 113004 11120004 | 14
2B 12R-3 113002 11120002 | 16
SP 2B12R-A-3 113476 11120112 |21
SP2B12R-A-4 113481 1112011620
SP2B12R-8 113549 11120138 | 16
2B15R 114150 11120150 | 22
2B 20R 114250 11120152 | 25
2B 22R 114301 11120154 | 27
2B 22R 113308 11120051 | 29
SP 2B 22R 113310 11120053 | 28
SP 2B 22R 113313 11120056 | 28
SP 2B 22 Ra-2 113320 11120058 | 32
2B 34R 114450 11120161 |39
SP 2B 34R 113450 11120098 | 40
2B 34R-b 114451 11120162 | 42
SP 2B 34R-b 113451 11120099 | 42
SP 2B 22-R1 51666 113556 11120142 | 31
PIRELLI

26 114050 111201459
26 113052 11120021 | 9
T26 84181 113053 11120022 | 9
T245 93625 114150 11120150 | 22
T20 86600 114001 11120143 [ 14
720 113001 11120001 | 14
T20 86660 113002 11120002 | 16
T245 BV 114151 11120151 |22
T245 BV 92141 113150 11120042 | 27
T245 93740 113151 11120043 | 22
T22 88544 114301 11120154 | 7
1938 113453 11120101 | 40
1938 113452 11120100 | 41
322 BB-93410 115009 111140006 | 58
93410 322 B.B 115030 111140020 | 58
PNEUMATIS

DB 06219 6x2" 113074 11120035 | 7
TAURUS

KF 218 113053 11120022 | g
KF218-6910 113017 1112001415
KF218-6902 113027 1112001815
KF218-6905 113028 11120019 15
KF 216 113002 11120002 | 16
KF211-200 114250 11120152 |75
KF 222-7400 113333 111120063 | 29
KF 222-7410 113334 11120064 | 57
KF 222-7403 113339 11120065 | 27
KF 221-7140 113464 11120107 | 41

LIKRAFT



CROSS REFERENCE

| Reference | Order No [PageNo

CROSS REFERENCES

CROSS REFERENCE

| Reference | Order No |PageNo

WEFORMA

WBE 150-E1 111001 :11101001]1
WBE 200-E1 111002 $11101002| 2
WBE 300-E1 111003 $11101003|3
WBE 300-E2 111005 :11101005|3
WBE 400-E1 111004 $11101004[4
WBE 400-E2 / 410-E1 111006 111010064
WBZ-G 210 113075 :11120036| 7
WBZ 300-E1 113053 :11120022|9
WBZ 300-E2 113054 :11120023|9
WBZ-G 350 113060 :11120027|11
WBZ 400 E1 113004 :11120004| 14
WBZ 400-E2 113482 11112011714
WBZ 430-E1 113483 :11120118| 20
WBZ 430-E2 113484 :11120119(20
WBZ-G 450 113100 :11120038| 23
WBZ-G 550 113300 :11120046| 26
WBZ 500-E1 113306 :11120049| 28
WBZ 500-E2 113313 {11120056| 28
WBZ 500-E2 113314 i11120057| 28
WBZ 600-E1 113453 :11120101|40
WBZ 600-E2 113460 i11120105/41
WBZ-G 600 113358 $11120077{43
WBD-G 450 115055 :11140029| 51
WBD-G 550 115003 :11140001|52
WBD 500-E1 115024 :11140016|58
WBD 500-E2 115032 :11140022| 58
WBD 600-E2 115054 :11140028| 60
WBD 600-E3 115051 :11140026| 60
WBD 600 E1 115053 :11140027| 60
WBD-G 590 115108 :11140046| 64

OIKRAFT







LIKRAFT

SLEEVE STYLE AIR SPRINGS
COMPONENTS

Top plate

Crimping ring

Sleeve

Piston

Air jack / Air inlet

Air inlet

Piston

Sleeve

Crimping ring

Clamp plate

All data in catalogue are informational.Air Otomotiv does not warrant the correctness or the completeness of these information
and has the right apply changes when necessary, without notice.A.l.R Siispansiyon 2012 All rights reserved



LKRAFT

PRODUCT ID AND TRACEABILITY

BARCODE

Barcoding system provides AIRKRAFT products a
maximum traceability down to the raw material.Via
the barcode number on the label, it is possible to
answer all questions regarding the product, until the
final customer.

Order No
T Production Assembly Date

Old Reference<J_ l Barcode Tracking Number

Vehicle Brand
F /R information

Adaptable
cross /oem - numbers
Chassis numbers the
item is adaptable to

Vehicle series
information

Product
Visual







LLKRAFT

AIRSPRINGS CABIN AIR SPRINGS

ORDER NO: 11221004 | 121101 SCANIA  ORDER NO: 11221007 | 121201 SCANIA
FRONT-REAR FRONT-REAR
SACHS 481002 SACHS 557001
GOODYEAR 1AS-004 GOODYEAR 1AS-005
FIRESTONE W02-M58-8000 FIRESTONE 'W02-M58-8005
OEM 1348121/ 1314278 OEM 1349840
CHASSIS NO CHASSIS NO
CR-SERIE  CR13/CR19 CR-SERIE  CP14/19/28/31
3SERIE  93m/113m/143m/T113/T143H CR-SERIE  CR14/19

ASERIE  94/114/124/144/164

veHicle SCANIA 3 CR SERIES adaptable veHicLE SCANIA 4 CR - CP SERIES adaptable

ORDER NO: 11221011 | 121202 SCANIA  ORDER NO: 11221015 | 121207 SCANIA
FRONT-REAR FRONT-REAR

MONROE CB0030 /717262725 SACHS 310619

GOODYEAR 1AS-001 GOODYEAR 1AS-005

FIRESTONE W02-M58-8002 FIRESTONE \W02-M58-8008

OEM 1476415/ 1381919 OEM 1424231

CHASSIS NO CHASSIS NO

94/114/124/144/ 164 CR-SERIE  CP14/19/28/31

CR-SERIE  CR14/16/19
3SERIE  94/114/124/144/164

vericLe SCANIA 4 SERIES adaptable vericLe/ SCANIA 4 CR - CP SERIES adaptable
ORDER NO: 11221018 | 121208 SCANIA ORDER NO: 11221021 | 121209 SCANIA
REAR FRONT-REAR

MONROE CB0074 SACHS 312465

GOODYEAR 1AS-006
FIRESTONE W02-M58-8010

OEM 1502468 / 1502471 OEM 1444016
CHASSIS NO CHASSIS NO
94/114/1241 144/ 164 CR-SERIE  CP28/31

CR-SERIE  CR16/19

veHicLe SCANIA 4 SERIES adaptable Vericle SCANIA R R - CR SERIES adaptable
ORDER NO: 11221001 | 121010 SCANIA  ORDER NO: 11201001 | 101169K SCANIA
FRONT-REAR FRONT-REAR
PHOENIX 1C39A-245 SACHS 112230 + 105876 / 105846
MONROE P2A7C006 / 01764029 105845 + 105875
105831 + 481002

GOODYEAR 1SA-036

FIRESTONE W02-M58-8001

OEM 1348121/1314278 ( Only bellows )
370227/ 393257 / 550365 / 1116535 / 1117320
1117334 /1331620 / 1331621 / 1331634 / 1331635

CHASSIS NO 1348117 /1348119 / 1348120 / 1177326 / 1331626
113R 1348118 / 1348211 / 1348477
CHASSIS NO

CR-SERIE  CR13/CR19
3SERIE  93/113/143/T113H/T143H

vericLe SCANIA 3 SERIES adaptable vericLe SCANIA 3 CR SERIES adzaptable

www.airkraft.com.tr

76



CABIN AIR SPRINGS

ORDER NO: 11201011 | 201180K SCANIA

FRONT
SACHS 290988 / 557001 + 105872
557001 + 290201 / 290203
1SA-031

W02-M58-8006

1349840 ( Only bellows )

1424228 / 1363122 / 1397396 / 1381904

GOODYEAR
FIRESTONE
OEM

CHASSIS NO

CR-SERIE  CP14/19/28/31
CR-SERIE  CR14/19

4SERIE  94/114/124/144/164

vericle SCANIA 4 CR - CP SERIES

adaptable
ORDER NO: 11201016 | 202186K SCANIA
FRONT
MONROE CB0030/CB0010/ 717262725
GOODYEAR 1SA-006
FIRESTONE W02-M58-8003
OEM 1476415 / 1381919 ( Only bellows )
1381904 / 1397400 / 1435859
CHASSIS NO
94/114/124/ 144/ 164
vericle SCANIA 4 SERIES adaptable
ORDER NO:11201003 | 128001K SCANIA
FRONT-REAR
SACHS 310619 + 319620
FIRESTONE W02-M58-8009
OEM 1424231 ( Only bellows )
1505563 / 1502470 / 1502471 / 1502472 |
1502474 | 1595642
CHASSIS NO

CR-SERIE  CP14/19/28/31
CR-SERIE  CR14/16/19
4SERIE  94/114/124/144/164

VEHICLE SCANIA 4 CR - CP SERIES

adaptable
ORDER NO:11201009 | 128003K SCANIA
FRONT
SACHS 312465 + 290987
312465 + 105871
OEM 1444016 ( Only bellows )

1424227/ 1363120 / 1397396 / 1397390
1397392 / 1397386 / 1397388

CHASSIS NO

CR-SERIE  CP14/19
3SERIE (CR14/16/19

veHicLe SCANIA R CR - CP SERIES adaptable

LLKRAFT

AIRSPRINGS
SCANIA

REAR

ORDER NO: 11201013 | 201181K

SACHS 557001 + 105873
557001 + 290989
1SA-032
W02-M58-8007
1349840 ( Only bellows )

1382827 / 1424229 | 1349844

GOODYEAR
FIRESTONE
OEM

CHASSIS NO

CR-SERIE  CP14/19/19F
CR-SERIE  CR14/19
4SERIE  94/114/124/144/164

vericLe SCANIA 4 CR - CP SERIES
ORDER NO: 11201019 | 202187K

adaptable
SCANIA
REAR
MONROE CB0030/CB0009 / 717262725
GOODYEAR  1SA-005
FIRESTONE W02-M58-8004

OEM 1476415 / 1381919 ( Only bellows )
1435856 / 1382826 / 1391906 / 12382829

CHASSIS NO
94711411241 1441164

veHicLe SCANIA 4 SERIES

adaptable
ORDER NO:11201006 | 128002K SCANIA
REAR
MONROE  (CBOO74/717262778
GOODYEAR  1SA-040
OEM 1502468 / 1502471 ( Only bellows )
1502474
CHASSIS NO
94/114/124/144/164/R
vericLe SCANIA R SERIES adaptable
ORDER NO:11201010 | 128004K SCANIA
REAR
SACHS 312465 + 310620
OEM 1444016 ( Only bellows )

1505563 / 1495642 / 1502470 / 1502471
1502472 | 1502474 | 1595642

CHASSIS NO

CR-SERIE  CP14/19
CR-SERIE  CR14/16/19

veHicLESCANIA R CR - CP SERIES

www.airkraft.com.tr

adaptable

77



LKRAFT

AIRSPRINGS

ORDER NO: 11201025 | 128005K SCANIA
FRONT
SACHS 310619 + 290987
OEM 1424231 (Only bellows)

1424227/ 1363120 / 1397386 /1397388
1397390 /1397392

CHASSIS NO

CP SERIE
CP14/19/28/31

CR SERIE
CR14/16/19

4 SERIE
94/114/124/144/164

veHicLe SCANIA 4 CR - CP SERIES adaptable

ORDER NO: 11202001 | 205001K MERCEDES
FRONT

SACHS 105392

GOODYEAR 1SA-AS014

FIRESTONE W02-M58-8014

OEM A 942 890 29 19/ 942 890 29 19

CHASSIS NO

18315-1831LS

18358-1835LS
18405 -1840LS
18435-1843LS
18485-1848LS
18535 -1853LS

vericte ACTROS 1831 - 1860 adaptable

ORDER NO: 11202003 | 206001K MERCEDES
REAR

SACHS 105409290997 / 311189

GOODYEAR  1SA-AS015

FIRESTONE W02-M58-8015

OEM A9428900219/942 890 60 19
A9428900219/943890 02 19/A943 890 39 19
9438903919

CHASSIS NO

1831-1860 L/K/S/AK/LL/LS/LLS
2031 -2053 A/K/SIAKIAS

2531 - 2557 LILS

2631 - 2658 B/K/L/S/LK/LS

3231 - 3335 A/B/K/S/AK/AS
3340 - 3357 A/B/KISIAKIAS
4140 - 4148 A/B/K/AK

vericle ACTROS 1831 - 1860 adaptable

ORDER NO: 11202010 | 208001K MERCEDES
FRONT

SACHS 105414 /290998 / 311663
FIRESTONE \W02-M58-8018

OEM A 942 890 53 19 /942 890 53 19
A 942 890 59 19 /942 890 59 19
A 943890 38 19 /943 890 38 19

CHASSIS NO

2031 - 2053 A/K/S/AKIAS
2531- 2557 L/LS

2631 - 2658 B/K/L/S/LK/LS
3231 - 3335 A/B/K/S/AK/AS
3340 - 3357 A/B/K/SIAKIAS
4140 - 4148 A/B/K/AK

vericLe ACTROS 1831 - 1860 adaptable

www.airkraft.com.tr

78

CABIN AIR SPRINGS

ORDER NO: 11222001 | 121205 MERCEDES
FRONT

SACHS
GOODYEAR
FIRESTONE
OEM

CHASSIS NO

veHicLe ACTROS 1831 - 1860 adaptable

ORDER NO: 11222004 | 121206 MERCEDES
REAR

SACHS
GOODYEAR
FIRESTONE
OEM

CHASSIS NO

VEHICLE ACTROS 1831 - 1860 adaptable

ORDER NO: 11202007 | 207001K MERCEDES
FRONT

SACHS 105408

GOODYEAR 1SA-AS021

FIRESTONE |W02-M58-8017

OEM A 942 890 52 19 /942 890 52 19

CHASSIS NO

18315-1831LS

18355-1835LS
18405 -1840LS
18435-1843LS
18485-1848LS
18535-1853LS

vericle ACTROS 1831 - 1860 adaptable

ORDER NO: 11202005 | 206119K MERCEDES
REAR

SACHS 311664

731700001830 / 731700000920
731700000691
OEM A 942 890 61 19/ 942 890 61 19

CHASSIS NO

1831-1860 L/K/S/AK/LLILS/LLS
2031-2053 A/K/S/AKIAS
2531 - 2557 L/LS

2631 - 2658 B/K/L/S/LK/LS
3231- 3336 A/K/S

3340-3357 A/S

4140 - 4150 K

vericLte ACTROS 1831 - 1860 adaptable



CABIN AIR SPRINGS

ORDER NO: 11202006 | 206919K

i SACHS

OEM

CHASSIS NO

veHicLe ACTROS 1831 - 4148

731700002549

MERCEDES
FRONT

A 942 890 69 19 /942 890 69 19

adaptable
ORDER NO: 11202013 | 209001K MERCEDES
FRONT
SACHS 721700003575
OEM A 94289049 19
CHASSIS NO
VEHicLE AXOR adaptable
ORDER NO: 11202012 | 211001K MERCEDES
FRONT
CHASSIS NO
VEHICLE AXOR adaptable
ORDER NO: 11203001 | 203001K MAN
SACHS 105855
GOODYEAR 1SA-AS 017
FIRESTONE W02-M58-8020
OEM 8141722 6048 / 81 41722 6051
CHASSIS NO
18.403733 Front - Rear
19.293720 (all) ~ Front- Rear
19343720 (all)  Front-Rear
19.344FLL (4X2) Front
veHicLE FH - 2000 adaptable

LLKRAFT

AIRSPRINGS

ORDER NO: 11202009 | 207019K

ORDER NO: 11202014 | 210001K

ORDER NO: 11223001 | 121203

ORDER NO: 11223004 | 121204

MERCEDES
REAR
SACHS 731700002547
OEM A 942890 70 19/942 890 70 19
CHASSIS NO
veHicle ACTROS1831S - 3353S adaptable
MERCEDES
REAR
CHASSIS NO
VEHICLE AXOR adaptable
MAN
SACHS
GOODYEAR
FIRESTONE
OEM
CHASSIS NO
VEHICLE FH - 2000 adaptable
MAN
REAR
SACHS
GOODYEAR
FIRESTONE
OEM
CHASSIS NO
VEHICLE FH - 2000 adaptable

www.airkraft.com.tr

79



LKRAFT

AIRSPRINGS

ORDER NO: 11203003 | 204001K MAN
REAR
SACHS 105856
GOODYEAR 1SA-AS 016
FIRESTONE W02-M58-8021
OEM 8141722 6049 / 81 41722 6052
CHASSIS NO
STERR
1927373 (all) 19529703
1932373 (all) 19534703
19.293713 (all ) 35536746
19.34373 (all ) 35541746
19.293FLL(4%2)T20 41536746
19.344FLL (4x2)T20 41540 T4
35314 VF 126 4154174
35.364 VF 126 41546 4
VEHICLEFH - 2000 adaptable
ORDER NO: 11203005 | 206014K MAN
FRONT
SACHS 135194 /135196 / 313181
OEM 85 41722 6008 / 85 41722 6014
85 41722 6022 / 81 41722 6077
CHASSIS NO
TGA (Front)
18.280 LL-FLS-FLLS-FLLS/N 18.530 FLS-FLLS-FLLS/N
26.310 FDS-FDSL-FDLS/M 26530 FNLS-FNLLS-FDLS/M
28310 FNLC-FNLS 28530 FNLC-FNLS
33.360 FDS-FDS-WW-FDLS 33.510 FDS-FDLS/M
41.480/41.660 FVDS-FVDLS
STEYR
TG-A (Front)
18 531- 536 - 541 - $46 - S51
26 931-536
VEHICLE TGA adaptable
ORDER NO: 11203008 | 206057K MAN
REAR
SACHS 135198 /313183
OEM 8141722 6057 / 81 41722 6075
8541722 6006 / 81 41722 6012
CHASSIS NO
TGADXRIGHT (Rear)
18.280 LL-FLS-FLLS-FLLS/N 18.530 FLS-FLLS-FLLS/N
26.310 FDS-FDSL-FDLS/M 26.530 FNLS-FNLLS-FDLS/M
28.310 FNLC-FNLS 28.530 FNLC-FNLS
33.350 FDS-FDS-WW-FDLS 33.531 FDLS-FDLRS/M
41480/ 41.660 FVDS-FVDLS
STEYR
TG-A (Front)
18 S31-S36 - 541 - 546 - 51
26 S31-S36
veHicLE TRACTOR adaptable
ORDER NO: 11224010 | 121056 RENAULT
REAR
SACHS
GOODYEAR
FIRESTONE
CONTITECH
OEM
CHASSIS NO
vericLe R.V.I. PREMIUM adaptable

80

ORDER NO: 11204004 | 228908K

CABIN AIR SPRINGS

ORDER NO: 11223007 | 121210

FRONT-REAR

SACHS

OEM

CHASSIS NO

VEHICLE TGA adaptable
ORDER NO: 11203007 | 206015K MAN

FRONT
SACHS 135195/ 135197/ 313182
OEM 85 41722 6009 / 85 41722 6015
8541722 6023 / 81 41722 6078

CHASSIS NO

TGA (Front)

18.280 LL-FLC-FLLC-FLIC/N 18510 FLS-FLLS-FLLS/N

26.310 FDC-FDSC-FDLC/M 26530 FDC-FDLC-FDC/M

33,360 FDC-FDC-WW-FDLC/M 33410 FD-TM-FDK-FDC

STEYR

TG-A (Front)

18 $31-536 - 541 - $46 - S51

26 $31- 536

VEHICLE TGA adaptable
ORDER NO: 11203009 | 206058K MAN

REAR
SACHS 135199/135200/ 313184
OEM 8141722 6058 /8541722 6007

8541722 6013 /8541722 6024 CLAAS 0596 619-1
CHASSIS NO

TGADXRIGHT (Rear)
18.280 LL-FLS-FLLS-FLLS/N 18.530 FC-FLC-FLLC-FLLW
26.310 FDC-FDCL-FDLC/M 26.530 FNLS-FNLLS-FDLS/M

28.310 FNLC-FNLS 28.530 FNLC-FNLS

33.350 FDS-FDS-WW-FDLS 33.530 FDC-FDLC-FDC/M

TG-L

7.150 7.180 FC-FRC-FLR-FLRC

8.180 8.240 FC-FRC-FK-FLRC-FRK

10.180 10.240 FC-FK-FRC-FRK

12.180 12.240 FC-FK-FRC-FRK

STEYR

TG-A (Rear)

18 S31- 536 - 541 - $46 - S51

26 S31-536

veHicLE TRUCK adaptable
RENAULT

REAR
SACHS 131041 /310957

GOODYEAR 1SA-AS 013

FIRESTONE \W02-M58-8034

CONTITECH SZ36-10

OEM 5010 228 908 A/ 5010 228 908
5010 228 908 B / 5010 228 908 C
5010 316 783 A/ 5010 269 674

CHASSIS NO

VEHICLE R.V.|. PREMIUM adaptable

www.airkraft.com.tr



ORDER NO: 11224001 | 121051

ORDER NO: 11224014 | 121079

ORDER NO: 11224008 | 121054

CABIN AIR SPRINGS

ORDER NO: 11224012 | 121057

RENAULT
REAR
SACHS
OEM
CHASSIS NO

PREMIUM 440 19 T 4X2 ECO HR

VEHICLE b REMIUM 450 DXI

adaptable

RENAULT
FRONT

MONROE
GOODYEAR
FIRESTONE
CONTITECH
PHOENIX
OEM

CB0075
1AS-007
W02-M58-8035
S750-9

C 075185

5010 130797 G

CHASSIS NO

vericLe KERAX 97 / 06 PREMIUM 00 / 01 qgaptaple

RENAULT
FRONT

FIRESTONE W02-M58-8032

CONTITECH SZ50-6

OEM 5010 133 079D

CHASSIS NO

veHicLeE RVI. GAMME G adaptable

RENAULT
FRONT
MONROE
GOODYEAR
FIRESTONE

CONTITECH
OEM

CB0083

1AS-011

W02-M58-8031

S750-10

5010 266 845 A/ 5010 313 619 A

CHASSIS NO

VEHICLE|G SERIES G 340 TIY adaptable

www.airkraft.com.tr

LKRAFT

ORDER NO: 11204002 | 228879K

SACHS

OEM

CHASSIS NO

Premium 440 19T 4x2 ECO HR

Premium 450 DXI

AIRSPRINGS

RENAULT
REAR
313072/ 23576537
781700002201 / 781700001622
781700004038
5010 615 879

(Rear)
(Rear)

PREMIUM 440 19 T 4X2 ECO HR

VEHICLE

GOODYEAR
FIRESTONE
CONTITECH
OEM

CHASSIS NO

veHicLE PREMIUM RVI.
ORDER NO: 11224006 | 121053

MONROE
GOODYEAR
FIRESTONE
CONTITECH
OEM

CHASSIS NO

vewicLe| G SERIES G 340 TIY

ORDER NO: 11224013 | 121070

MONROE

OEM

CHASSIS NO

veHicLe MAGNUM DXI

PREMIUM 450 DXI
ORDER NO: 11224017 | 121414

adaptable
RENAULT
FRONT
1AS-007
W02-M58-8035
SZ50-9 PO2
5010 629 414
adaptable
RENAULT
REAR
CB0082
1AS-010
W02-M58-8030
SZ50-8
5010 092 916 E
adaptable
RENAULT
REAR
adaptable

81



LLKRAFT

AIRSPRINGS

ORDER NO: 11204003 | 228893K RENAULT
REAR

MONROE 20889055

OEM 5010 552 241
7420898055 / 7482052893

CHASSIS NO

vericle MAGNUM DXI
ORDER NO: 11224015 | 121086

adaptable

RENAULT

REAR
CONTITECH SK86-10

OEM 5010 491 301

CHASSIS NO

veHicle MAGNUM DXI 12
ORDER NO: 11225001 | 121055

adaptable

IVECO

FRONT
MONROE CB0077
PIRELLI I GC 130- 30
GOODYEAR |1AS-009

OEM 41019 150 /816 90 50/ 410 15 530

CHASSIS NO

VEHICLE EUROTECH /7 EUROSTAR
ORDER NO: 11205001 | 128010K

adaptable

IVECO

REAR
SACHS 115743
FIRESTONE  W02-M58-8028
GOODYEAR 1SA-AS 019
OEM 41028764 [ 41028763 / 500377878
500348793

CHASSIS NO

Eurostar LD 180 E38 LD440E52TZ
Eurotech MP 180 E34 4404272
Eurotech MT 180E 34R / 400E 34R

Euro Trakker MP190E 31H MP 720E 47 HT

EUROSTAR TYPE 2 EUROSTAR /

VEHICLE FUROTECH / EUROTRAKKER adaptable

82

CABIN AIR SPRINGS

ORDER NO: 11204001 | 228849K RENAULT

FRONT

MONROE CB0070/69849

OEM 5010 228 849

CHASSIS NO

veHicLte MAGNUM E-TECH
ORDER NO: 11224004 | 121052

adaptable

RENAULT

FRONT-REAR
MONROE CB0076
GOODYEAR 1AS-008
FIRESTONE \W02-M58-8033
CONTITECH 816-Z
PHOENIX C 091340
OEM 5010 320 096 A

CHASSIS NO

Magnum AE 96/04 00/05
Magnum E-tech 00/05 02/03
Magnum E-tech 02/03 Front

veHicle MAGNUM
ORDER NO: 11225005 | 121215

adaptable

IVECO

REAR
SACHS
GOODYEAR
FIRESTONE
OEM

CHASSIS NO

EUROSTAR TYPE 2 EUROSTAR /
EUROTECH /7 EUROTRAKKER

ORDER NO: 11205003 | 128011K

VEHICLE
adaptable

IVECO

REAR
SACHS 115731 /115902
FIRESTONE W02-M58-8029
GOODYEAR 1SA-AS 018
OEM 500379698 / 500307338 / 99438514
99455937 / 500352808 / 98472734

CHASSIS NO

Fahrerhaus-Fernverkehr (SPR-2)
C-HR/L-HR/L-LR/ L-MR (ONROAD )
Fahrerhaus-Mehrzweck (SPR-2)
L-LR/L-MR (ONROAD)

veHicLe EUROTECH/EUROSTAR TYPE L

www.airkraft.com.tr

adaptable



LKRAFT

CABIN AIR SPRINGS AIRSPRINGS

ORDER NO: 11225008 | 121217 IVECO  ORDER NO: 11205005 | 128012K IVECO
FRONT-REAR FRONT
SACHS SACHS 310820
FIRESTONE FIRESTONE  WO02-M58-8022
OEM OEM 500 357 351
CHASSIS NO CHASSIS NO
190831 - 40 -43 AT
260535 / S40-40-43 AT

440840 - 43 AT
190540 - 43 - 48 AS

VEHICLE STRALIS adaptable VEHICLE STRALIS adaptable
ORDER NO: 11225009 | 121218 IVECO ORDER NO: 11205008 | 128013K IVECO
FRONT-REAR FRONT
ARVINMERITOR ARVINMERITOR 908 322 985
FIRESTONE FIRESTONE  W02-M58-8025
OEM OEM 500 340 705
CHASSIS NO CHASSIS NO
190531 - 40 -43 AT
260535 - 40-43 AT
440540 - 43 AT
190540- 43- 48AS
VeHicLE STRALIS adaptable VEHICLE STRALIS adaptable
ORDER NO: 11205010 | 128014K IVECO  ORDER NO: 1125010 | 121219 IVECO
REAR REAR
ARVINMERITOR |908 322 986 ARVINMERITOR
FIRESTONE  W02-M58-8026 FIRESTONE
OEM 500 340 706 OEM
CHASSIS NO CHASSIS NO
190531 - 40 -48 AT
260540 - 44-48 - 54 AS
440540 - 43- 48 -54- AS
vericLe STRALIS adaptable VEHICLE STRALIS adaptable
ORDER NO: 11205012 | 128015K IVECO  ORDER NO: 11205014 | 128016K IVECO
REAR REAR
ARVINMERITOR 928 323 140 SACHS 310821

FIRESTONE  \W02-M58-8027 FIRESTONE W02-M58-8023

OEM 504 060 233 OEM 500 357 352

CHASSIS NO

190531 - 40 -48 AT
260540 - 44-48 - 54 AS
440540 -43 - 48 - 54 - AS

VeHicLE STRALIS

adaptable

CHASSIS NO

190540 - 43 -48 AS
260540-43-48 - 54 AS
440540 - 43 - 48 - 54 AS

veHicLE STRALIS

adaptable
www.airkraft.com.tr

83



LLKRAFT

AIRSPRINGS

ORDER NO: 11225011 | 121225

SACHS
FIRESTONE

OEM

CHASSIS NO

VEHICLE STRALIS
ORDER NO: 11226003 | 121220

MONROE
FIRESTONE
GOODYEAR
OEM

CHASSIS NO

VEHICLE FH - 12 / FH - 16
ORDER NO: 11226005 | 121221

MONROE
FIRESTONE
GOODYEAR
OEM

CHASSIS NO

VEHICLEFH - 12 / FH - 16
ORDER NO: 11226007 | 121222

MONROE
FIRESTONE
GOODYEAR
OEM

CHASSIS NO

VEHICLEFH - 12 /FH- 16

www.airkraft.com.tr

84

IVECO

REAR

adaptable

VOLVO

FRONT

adaptable

VOLVO

REAR

adaptable

VOLVO
REAR

adaptable

CABIN AIR SPRINGS

ORDER NO: 11205016 | 12801 7K IVECO

REAR
SACHS 311884
731700000277 / 731700002845
FIRESTONE \W02-M58-8024

OEM 504 060 241

CHASSIS NO

190831 - 40 -43 AT
440840 - 43 AT

VEHICLE STRALIS adaptable
ORDER NO: 11206001 | 128020K VOLVO
FRONT

MONROE CB0003 /717269833
FIRESTONE 'W02-M58-8036
GOODYEAR 1SA-AS 003

OEM 3172984 / 1629719 / 1629724
CHASSIS NO

FH12 exL1HL FH16

A291152 - A544695 A257343 - B162550

B216585 - B311773 B162550

A257343 - B162550 D110198

(754615 - D100895 A257344 - A291151

2806854 B162551 - B216584

D110208
A291152 - A544695
B216585 - B311773

VEHICLE FH - 12 / FH - 16 adaptable
ORDER NO: 11206004 | 128021K VOLVO
REAR

MONROE CBO0006 /717269647

FIRESTONE W02-M58-8037

GOODYEAR 1SA-AS 004

OEM 20427897 / 20721169 / 20889134
20775212/ 21651231 / 1076855 / 20721167
20736464 / 3172985 / 3198850

CHASSIS NO

FH12 exL1H1
A291152 - A544695
B216585-B311773

A544696

B311774

FH16

A291152 up to A544695

B216585 up to B311773

VEHICLEFH - 12 /FH- 16 adaptable
ORDER NO: 11206007 | 128022K VOLVO

REAR

MONROE CB0002 /717269602
FIRESTONE W02-M58-8038
GOODYEAR 1SA-AS 002

OEM 1075076 / 1075077

CHASSIS NO

FH12 exL1H1
(754615
D100895
2806854

FH16
A257343
B162550
D110198

VEHICLEFH - 12 /FH- 16 adaptable



CABIN AIR SPRINGS

ORDER NO: 11226001 | 121059

ORDER NO: 11206013 | 128024K

ORDER NO: 11207002 | 128034K

ORDER NO:

VOLVO
FRONT
MONROE CB0055
OEM 20453256 / 20399204 / 20453258
20889132 / 21111932 / 3198837
CHASSIS NO
exL1EH1

A544696
B311774
L1EH1

A544696
B311774

VEHICLE FH - 12

adaptable
VOLVO
FRONT
MONROE CB0055 + CB0039
OEM 20453256 / 20399204 / 20453258
20889132 / 21111932 / 3198837
CHASSIS NO
ex L1EHL
A544696
B311774
L1EHL
A544696
B311774
VEHICLE FH - 12 adaptable
DAF
REAR
MONROE CB0034
GOODYEAR 1SA-AS 010
OEM 1265282 / 1285394 / 1321591 / 1353451

1353454 / 1371066 / 1623477 | 299862

CHASSIS NO

VEHICLE CF / XF / 95 adaptable

CHASSIS NO

adaptable

ORDER NO: 11206010 | 128023K

ORDER NO: 11207001 | 128033K

ORDER NO:

ORDER NO:

LKRAFT

AIRSPRINGS

VOLVO
FRONT
MONROE CB0055 + CB0039
OEM 20453256 / 20399204 / 20453258
20889132 / 21111932 / 3198837
CHASSIS NO
exL1EHL

A544696
B311774
L1EHL

A544696
B311774

VEHICLE FH - 12

adaptable
DAF
FRONT

MONROE CB0033

GOODYEAR 1SA-AS 009

OEM 1265281 / 1285393 / 1321590 / 1353450

1353453 / 1371065 / 1444147 | 1622211

CHASSIS NO
vericLle CF / XF / 95 adaptable
CHASSIS NO

adaptable
CHASSIS NO

adaptable

www.airkraft.com.tr

85






LLKRAFT

AIRSPRINGS

ORDER NO: 11260002 | 126045
CONTITECH SZ130-25 P04

VOLVO

OEM 20534645

CHASSIS NO

VeHICLE LIFT - AXLE SHORT VERSION

adaptable

ORDER NO: 11260001 | 126001 VOLVO

CONTITECH SK95-26

OEM 1081785 / 20455245 | 20494458

CHASSIS NO

VeHicLE LIFT - AXLE adaptable
ORDER NO:
ORDER NO:

www.airkraft.com.tr

86

LIFT - AXLE

ORDER NO: 11260003 | 126046 VOLVO
CONTITECH SZ130-25 P05
OEM 20534646
CHASSIS NO
VEHICLE LIFT - AXLE LONG VERSION adaptable
ORDER NO:
ORDER NO:
ORDER NO:






LLKRAFT

AIRSPRINGS PASSENGER VEHICLE

ORDER NO: 11261007 | 126580 ORDER NO: 11261011 |

FIRESTONE WO05-372-2078
PHOENIX 2C-93 / 144-363-1
SUNCORE IND. 40F-15-R

FIRESTONE WO05-372-2077

.- —

DESCRIPTION DESCRIPTION
3U2Z-5580-PA / FORD - REAR 3U2Z-5580-AA /FORD
1990-2011 TOWN CAR AIR SPRING
1992-2011 CROWN VICTORIA AIR SPRING
1992-2011 GRAND MARQUIS AIR SPRING
adaptable adaptable
ORDER NO: 11261012 ORDER NO: 11261013
FIRESTONE W05-372-2071 FIRESTONE W21-760-9000
CONTITECH SK68 - 15 P01
DESCRIPTION DESCRIPTION
3U2Z-5580-BA /FORD RIDE-RITE ( Long Part)
adaptable adaptable
ORDER NO: 11261014 ORDER NO: 11261015
FIRESTONE W21-760-9001 FIRESTONE |W21-760-9002

CONTITECH K68 - 10 P01

DESCRIPTION DESCRIPTION
RIDE-RITE ( Short Part ) RIDE-RITE ( Medium Part )
adaptable adaptable
ORDER NO: 11261003 | 126019 ORDER NO: 11261004 | 126023
CONTITECH S7135-19 CONTITECH S7135-23
OEM
CHASSIS NO CHASSIS NO

Special Purpose Vehicles , Rear
Axle (‘e.g. Ambulances ) agaptable

Special Purpose Vehicles , Rear

VEHICLE
Axle (e.g. Ambulances ) adaptable

VEHICLE

www.airkraft.com.tr

87



PASSENGER VEHICLE

ORDER NO: 11261001 | 125520
CONTITECH S755-20 P01

OEM

CHASSIS NO

vericLe Camping Vehicles, e.g. Lineppe adaptable
ORDER NO: 11261009 | W-126300

FIRESTONE |W02-358-3000

OEM Les Autobus G5006637

Novabus N12687
Suspension Dynamics 950208

CHASSIS NO

adaptable
ORDER NO: 11261005 | 126300

FIRESTONE W02-M58-3000

OEM

CHASSIS NO

adaptable
ORDER NO:

www.airkraft.com.tr

LLKRAFT

AIRSPRINGS

ORDER NO: 11261002 | 126013 MERCEDES

OEM A 639328 0101

CHASSIS NO

VIANO (W639) CDI 2.2 (ab 09/2003, 80 kW)
VIANO (W639) CDI 2.2 (ab 09/2003, 110 kW)

VITO Bus (W639) 109 CDI 2.2 (ab 09/2003, 65 kW)
VITO Bus (W639) 111 CDI 2.2 (ab 09/2003, 80 kW)
VITO Bus (W639) 115 CDI 2.2 (ab 09/2003, 110 kW)
VITO Bus (W639) 119 (ab 09/2003, 140 kW)

VITO Bus (W639) 122 (ab 09/2003, 160 kW)

VITO Kasten (W639) 109 CDI 2.2 (ab 09/2003, 65 kW)
VITO Kasten (W639) 111 CDI 2.2 (a 09/2003, 80 kW)
VITO Kasten (W639) 115 CDI 2.2 (ab 09/2003, 110 kW)
VITO Kasten (W639) 119.3.2 (ab 09/2003, 140 kW)
(W639)

VITO Kasten (W839) 122 3.2 (ab 09/2003, 160 kW) adaptable

ORDER NO: 11261010 | W-126301

FIRESTONE W02-358-3001
GOODYEAR 1S3-013

OEM

CHASSIS NO

adaptable

ORDER NO: 11261006 | 126301
FIRESTONE W02-M58-3001

OEM

CHASSIS NO

ORDER NO:

88






LKRAFT

AIRSPRINGS

ORDER NO: 11270001 | 127201

CONTITECH SZ35-11

OEM
EVO 4.731.046.000

ORDER NO: 11270003 | 127203

CONTITECH SZ70-11

OEM

ORDER NO:

ORDER NO:

www.airkraft.com.tr

89

adaptable

adaptable

CONTITECH SZ50-11

OEM

VAN HOOL
IRIS

BELT TENSIONER

ORDER NO: 11270002 | 127202

10635845
5.006.153.851

ORDER NO: 11271001 | 127115

ORDER NO:

ORDER NO:

CONTITECH SZ11-5

OEM

SCANIA
IRIS/RVI

486985
5010455628 B

adaptable

adaptable






LLKRAFT

AIRSPRINGS

ORDER NO: 11240008 | 125112

CONTITECH SZ59 -7
ISRINGHAUSEN 38570/ 36879

OEM
DAF 1331728

adaptable
ORDER NO: 11240002 | 125102
CONTITECH SZ60 - 6/ 8642
ISRINGHAUSEN 3.1396
OEM
adaptable
ORDER NO: 11240004 | 125104
CONTITECH 865Z /937N
ISRINGHAUSEN 3.1390
OEM
adaptable
ORDER NO: 11240010 | 125121
CONTITECH SZ51-5
OEM
adaptable

www.airkraft.com.tr

90

SEAT

ORDER NO: 11240001 | 125101

CONTITECH SZ51-7
PILOT HYA005
OEM
adaptable
ORDER NO: 11240003 | 125103
CONTITECH SZ62 -7
ISRINGHAUSEN 3.3207
OEM
adaptable
ORDER NO: 11240006 | 125106
CONTITECH SZ51-6
GRAMMER 140214 / 1189932
OEM
adaptable
ORDER NO: 11240011 | 125122
CONTITECH S782-8
ISRINGHAUSEN 27403-1
OEM
adaptable



SEAT

ORDER NO: 11240014 | 125124

OEM

ORDER NO: 11240016 | 125126

OEM

ORDER NO: 11240035 | 125129

OEM
PILOT HYA 008

ORDER NO: 11240018 | 125131

CONTITECH

OEM
KLEPP

www.airkraft.com.tr

adaptable

adaptable

adaptable

SZ50 -7

adaptable

LKRAFT

ORDER NO: 11240015 | 125125
CONTITECH

OEM

ORDER NO: 11240037 | 125128

OEM
PILOT HYA 006

ORDER NO: 11240017 | 125130

CONTITECH

OEM
KLEPP

ORDER NO: 11240022 | 125908

CONTITECH
GRAMMER

OEM

AIRSPRINGS

SZ51-10
adaptable
adaptable
SZ51-9
adaptable
8187
132908 / 1189933
adaptable

91



LLKRAFT

AIRSPRINGS

ORDER NO: 11240019 | 125214

CONTITECH
GRAMMER

OEM

ORDER NO: 11240039 | 125521

CONTITECH

DESCRIPTION
KLEPP

ORDER NO:

ORDER NO:

www.airkraft.com.tr

92

SZ51-6
140214 / 1189932
adaptable
SZ20-10
adaptable
adaptable

ORDER NO: 11240021 | 125826

ORDER NO:

ORDER NO:

ORDER NO:

CONTITECH
GRAMMER

OEM

S792 -6
1109826 / 1189934

SEAT

adaptable

adaptable

adaptable






LLKRAFT

AIRSPRINGS

ORDER NO: 11229004 | 127007

GOODYEAR 1S6 - 067
FIRESTONE \W02-358-7007

DESCRIPTION
Mack 227QS34

ORDER NO: 11229009 | 127056
FIRESTONE W02-358-7056

DESCRIPTION
Link 1102-0043
MACK / KENWORTH / FREIGHTLINER

ORDER NO: 11229005 | 127012

GOODYEAR 1S4 - 008
FIRESTONE W02-358-7012

DESCRIPTION

Mack
Link 1102-0021 / 1102-0040

ORDER NO: 11229008 | 127046

CONTITECH SC29-0046 / SZ70-5060 P02
FIRESTONE \W02-358-7046

DESCRIPTION
Link 1102-0022
FORD / FREIGHTLINER / GMC / PETERBILT

www.airkraft.com.tr

93

adaptable

adaptable

adaptable

adaptable

NORTH AMERICAN - CAB

ORDER NO: 11229023 | 127017
FIRESTONE W02-358-7017

DESCRIPTION
Mack 2270538

ORDER NO: 11229006 | 127031

GOODYEAR 1S4 - 007
FIRESTONE W02-358-7031

DESCRIPTION

Mack 227QS33
Link 1101-0020

ORDER NO: 11229024 | 127082

CONTITECH SC29-Y082 / SZ70-8082
FIRESTONE \W02-358-7082

DESCRIPTION
FREIGHTLINER / WESTERN STAR

ORDER NO: 11229010 | 127074
FIRESTONE W02-358-7074

DESCRIPTION
Link 1102-0045 / 1102-0047
FREIGHTLINER

adaptable

adaptable

adaptable

adaptable



NORTH AMERICAN - CAB
ORDER NO: 11229013 | 127087

GOODYEAR  1S5-040
CONTITECH |SC29-W087
FIRESTONE 'W02-358-7087

DESCRIPTION
FREIGHTLINER (1988 & later)

adaptable
ORDER NO: 11229025 | 127106

FIRESTONE WO02-358-7106

DESCRIPTION
Link 1102-0030
PETERBILT

adaptable
ORDER NO: 11229027 | 127098

FIRESTONE WO02-358-7098

DESCRIPTION
Link 1102-0027

adaptable
ORDER NO: 11229012 | 127081

GOODYEAR 155-038
FIRESTONE \W02-358-7081

DESCRIPTION

Link 1101-0043 / 1102-0076
NAVISTAR

adaptable

LLKRAFT

AIRSPRINGS

ORDER NO: 11229047 | 127024
FIRESTONE \WO02-358-7024

DESCRIPTION
Link 1102-0071

ORDER NO: 11229026 | 127045
FIRESTONE W02-358-7045

DESCRIPTION
Link 1102-0042
WESTERN STAR

ORDER NO: 11229048 | 127044
FIRESTONE W02-358-7044

DESCRIPTION
Link 1102-0070
AIRFLEX

ORDER NO: 11229028 | 127083
FIRESTONE W02-358-7083

DESCRIPTION

Link 1102-0081
FREIGHTLINER

adaptable

adaptable

adaptable

adaptable

www.airkraft.com.tr

94



LLKRAFT

AIRSPRINGS

ORDER NO: 11229029 | 127079

FIRESTONE W02-358-7079

DESCRIPTION
Link 1102-0026
NAVISTAR

ORDER NO: 11229031 | 127080

FIRESTONE W02-358-7080

DESCRIPTION
Link 1102-0031
FREIGHTLINER

ORDER NO: 11229032 | 127075

GOODYEAR 1S5 - 157
FIRESTONE  \W02-358-7075
CONTITECH 5C29-W075 / SZ70-7077

DESCRIPTION
Link 1102-0048

ORDER NO: 11229049 | 127092

FIRESTONE W02-358-7092
CONTITECH SC29-B092 / SZ70-9087

DESCRIPTION

Link 1102-0083
KENWORTH

www.airkraft.com.tr

95

adaptable

adaptable

adaptable

adaptable

NORTH AMERICAN

ORDER NO: 11229030 | 127086

GOODYEAR  1S4-175
CONTITECH SC29-0086 / SZ70-5052
FIRESTONE \W02-358-7086

DESCRIPTION

Link 1102-0025
FORD

ORDER NO: 11226010 | 127001

FIRESTONE WO02-358-7001
CONTITECH SC29-0001/ SZ70-5067

DESCRIPTION

Link 1102-0020 / 1102-0023
FORD/ FREIGHTLINER / GMC / VOLVO

ORDER NO: 11229033 | 127064

GOODYEAR 1S5 - 057
FIRESTONE \W02-358-7064
CONTITECH 5C29-Y064 / SZ70-8077

DESCRIPTION

Link 1102-0074
KENWORTH Aerocab / MARMON

ORDER NO: 11229016 | 127110

FIRESTONE WO02-358-7110

DESCRIPTION
Link 1102-0082 / 1102-K082
KENWORTH T2000 ( 1998 & Later)

- CAB

adaptable

adaptable

adaptable

adaptable



NORTH AMERICAN - CAB

ORDER NO: 11229050 | 127116
FIRESTONE W02-358-7116

DESCRIPTION
Link 1101-0030

ORDER NO: 11229015 | 127109
FIRESTONE \W02-358-7109

DESCRIPTION
Link 1102-0077
KENWORTH Aerocab ( mid. 1999 & later)

ORDER NO: 11229002 | 125010

GOODYEAR 1S5-010
CONTITECH SC29-YGO01

DESCRIPTION

ORDER NO: 11226009 | 125171

GOODYEAR 1%55-171

DESCRIPTION
VOLVO NH ; 21165207 / 20462622 / 8074629

adaptable

adaptable

adaptable

adaptable

LLKRAFT

AIRSPRINGS

ORDER NO: 11229014 | 127108

GOODYEAR 1S5 - 057
FIRESTONE \W02-358-7108
CONTITECH SC29-Y108 / SZ70-8077 P02

DESCRIPTION
Link 1102-0075
MILSCO 07067 A

adaptable
ORDER NO: 11229001 | 125005

GOODYEAR 1S5 - 005

DESCRIPTION
Link 1101-0040

adaptable
ORDER NO: 11229003 | 125045

GOODYEAR 1S5 - 045

DESCRIPTION

adaptable
ORDER NO: 11229007 | 127036

FIRESTONE |W02-358-7036
CONTITECH SC29 - Y036

DESCRIPTION
PETERBILT 29-03200

adaptable

www.airkraft.com.tr

96



LLKRAFT

AIRSPRINGS

ORDER NO: 11229017 | 127205

FIRESTONE WO02-358-7205
CONTITECH SC31-Y205

DESCRIPTION
FREIGHTLINER 66003 - 3406

ORDER NO: 11229019 | 127207

FIRESTONE W02-358-7207
CONTITECH SC31 - B207

DESCRIPTION
FREIGHTLINER 18-40977-000

ORDER NO: 11229036 | 127093
FIRESTONE W02-358-7093

DESCRIPTION

PETERBILT : 29-06016
(Model 387)

ORDER NO: 11229041 | 127204
FIRESTONE W02-358-7204

DESCRIPTION
FREIGHTLINER / STERLING
Sterling Actera ; 18-43472-000

www.airkraft.com.tr

97

adaptable

adaptable

adaptable

adaptable

NORTH AMERICAN

ORDER NO: 11229018 | 127206

FIRESTONE W02-358-7206
CONTITECH |SC31 - W206

DESCRIPTION
FREIGHTLINER 18-29919-000

ORDER NO: 11229020 | 127215

FIRESTONE WO02-358-7215
CONTITECH SC31-Y215

DESCRIPTION
FREIGHTLINER 18-52651-000

ORDER NO: 11229040 | 127200

FIRESTONE W02-358-7200
CONTITECH SC29-B200/ SZ70-9102

DESCRIPTION

FREIGHTLINER / STERLING
Sterling Sleeper ; 18-42609-000
0Id Ford # P/N ; FGHT5C063BA

ORDER NO: 11229038 | 125072

FIRESTONE WO02-358-7201
CONTITECH SC29-0201/SZ70-5072

DESCRIPTION
FREIGHTLINER / STERLING
Sterling Day Cab ; 18-45068-000
Old Ford # P/N ; F6HT5C06 CAB

- CAB

adaptable

adaptable

adaptable

adaptable



LLKRAFT

NORTH AMERICAN - CAB AIRSPRINGS

ORDER NO: 11229037 | 126754 ORDER NO: 11229039 | 127155
FIRESTONE W02-358-6754 FIRESTONE \WO02-358-7155
DESCRIPTION DESCRIPTION
PETERBILT : 20-16754 PETERBILT : 20-19036
Day Cab (1994 & Later) Dynacraft D5000-2253
Dynacraft D5000-2250
adaptable adaptable
ORDER NO: ORDER NO:
ORDER NO: ORDER NO:
ORDER NO: ORDER NO:

www.airkraft.com.tr

98



LLKRAFT

AIRSPRINGS

ORDER NO: 11240029 | 127150

FIRESTONE W02-358-7150

DESCRIPTION
SEARS / DURAFORM S$13384

ORDER NO: 11240030 | 127041

FIRESTONE W02-358-7041

DESCRIPTION
SEARS / DURAFORM $8645

ORDER NO: 11240042 | 127070

FIRESTONE \W02-358-7070

DESCRIPTION
NATIONAL SEATING 2123403

ORDER NO: 11240032 | 127152

FIRESTONE W02-358-7152

CONTITECH SC29 - B152 / SZ70-9065 P02

DESCRIPTION
KNOEDLER 100095 - 000

www.airkraft.com.tr

99

adaptable

adaptable

adaptable

adaptable

NORTH AMERICAN - SEAT

ORDER NO: 11240023 | 127035

GOODYEAR 1S45-121
FIRESTONE W02-358-7035
CONTITECH SC29-W035 / SZ70-7065 P02

DESCRIPTION
SEARS / DURAFORM $9383 / 5-20235

adaptable

ORDER NO: 11240026 | 127040

FIRESTONE  W02-358-7040

DESCRIPTION

SEARS / DURAFORM $53883
SEATS 707338
KNOEDLER 9212

adaptable

ORDER NO: 11240031 | 127055

FIRESTONE W02-358-7055

DESCRIPTION
NATIONAL SEATING 2112283

adaptable

ORDER NO: 11240043 | 127061

FIRESTONE W02-358-7061
CONTITECH  |SC29 - W035 / SZ70-7065 P02

DESCRIPTION

SEARS / DURAFORM $9383 / 5-20235
C.E.WHITE

adaptable



NORTH AMERICAN - SEAT
ORDER NO: 11240044 | 127042
FIRESTONE W02-358-7042

DESCRIPTION
COMFORT RIDE

adaptable
ORDER NO: 11240046 | 127073
FIRESTONE W02-358-7073

DESCRIPTION
CARE CONCEPT

adaptable
ORDER NO: 11240027 | 127043
FIRESTONE \W02-358-7043

DESCRIPTION
DONVEL

adaptable
ORDER NO: 11240047 | 127037
FIRESTONE \W02-358-7037

DESCRIPTION
AIRFLEX

adaptable

LLKRAFT

AIRSPRINGS

ORDER NO: 11240045 | 127029
FIRESTONE W02-358-7029

DESCRIPTION
CARE CONCEPT / INDEPENDENT MOBILITY

ORDER NO: 11240033 | 127054
FIRESTONE W02-358-7054

DESCRIPTION
WISE

ORDER NO: 11240024 | 127038
FIRESTONE |W02-358-7038

DESCRIPTION
DONVEL / AIRFLEX

ORDER NO: 11240034 | 127067
FIRESTONE W02-358-7067

DESCRIPTION
AIRFLEX

adaptable

adaptable

adaptable

adaptable

www.airkraft.com.tr

100



LLKRAFT

AIRSPRINGS NORTH AMERICAN - SEAT

ORDER NO: 11240048 | 127085 ORDER NO: 11229011 | 127076
FIRESTONE W02-358-7085 FIRESTONE W21-760-7076
DESCRIPTION DESCRIPTION
ARFLEX RIDE - RITE
adaptable adaptable
ORDER NO: 11240050 | 127059 ORDER NO: 11240049 | 127058
FIRESTONE W02-358-7059 FIRESTONE W02-358-7058
DESCRIPTION DESCRIPTION
NATIONAL SEATING NATIONAL SEATING
324663-01./ 328035-01 / 329666-01 324663-01/ 328035-01 / 329666-01
adaptable adaptable
ORDER NO: ORDER NO:
ORDER NO: ORDER NO:

www.airkraft.com.tr

101



NORTH AMERICAN -

ORDER NO: 11229052 | 127049
FIRESTONE WO02-358-7049

DESCRIPTION
3T'S MOBILE HOME: W02-T03-7049

adaptable
ORDER NO: 11229034 | 127103

FIRESTONE WO02-358-7103
CONTITECH |SC29 - W103 / SZ70-7077 P02

DESCRIPTION
3T'S MOBILE HOME: W02-T03-7103

adaptable
ORDER NO: 11229051 | 127149
FIRESTONE W02-358-7149

DESCRIPTION
3-T'S ;W02-T03-7149

adaptable
ORDER NO:

MOBILE HOMES

LLKRAFT

AIRSPRINGS

ORDER NO: 11229053 | 127100

FIRESTONE W02-358-7100
CONTITECH SC29 - 0100/ SZ70-5075 P02

DESCRIPTION
3T'S MOBILE HOME: W02-T03-7100

adaptable
ORDER NO: 11229054 | 127032
FIRESTONE \W02-358-7032
DESCRIPTION
3T'SMOBILE HOME / CARE CONCEPT
INDEPENDENT MOBILITY
adaptable
ORDER NO:
ORDER NO:

www.airkraft.com.tr

102






OEM REFERENCES

OEM REFERENCE | Reference | Order No [PageNo OEM REFERENCE | Reference | Order No [PageNo
3-TS 1101-0043 / 1102-0076 127081 :11229012| 94
W02-T03-7049 127049 11229052 102 1102-0081 127083 :11229028| 94
W02-T03-7100 127100 :11229053| 102 1102-0026 127079 11229029 95
W02-T03-7103 127103 :11229034| 102 1102-0025 127086 :11229030| 95
W02-358-7149 127149 :11229051| 102 1102-0031 127080 :11229031| 95
DAF 1102-0020/1102-0023 127001 :11226010| 95
1265281 /1285393 /1321590 / 128033K :11207001| 85 1102-0048 127075 $11229032| 95
1353450/ 1353453 /1371065 / 1102-0074 127064 $11229033| 95
1444147 1 1622211 1102-0083 127092 11229049 95
1265282 /1285394 / 1321591 / 128034 :11207002| 85 1102-0082 / 1102-K082 127110 1122901695
1353451/ 1353454 / 1371066 / 1101-0030 127116 $11229050| 96
1623477 / 299862 1102-0075 127108 :11229014| 96
1331728 125112 :11240008| 90 1102-0077 127109 1122901596
DYNACRAFT 1101-0040 125005 $11229001| 96
D5000-2250 126754 11229037/ 98 MACK
D5000-2253 127155 :11229039| 98 227QS34 127007 11229004/ 93
FREIGHTLINER 227QS38 127017 $11229023| 93
66003 - 3406 127205 11229017/ 97 2270QS33 127031 :11229006| 93
18-29919-000 127206 :11229018| 97 MAN
18-52651-000 127215 :11229020| 97 81417226048 / 81417226051 203001K i11203001| 79
FREIGHTLINER ( cont. ) 81417226049 / 81417226052 204001K $11203003| 80
18-40977-000 ( Century Class ) 127207 :11229019| 97 85417226008 / 85417226014 / 206014K :11203005| 80
FREIGHTLINER / STERLING 85417226022 / 81417226077
18-42609-000 127200 :11229040| 97 85417226009 / 8541722601 / 206015K $11203007| 80
18-43472-000 127204 i11229041| 97 85417226023 / 81417226078
18-45068-000 125072 :11229038| 97 81417226057 / 81417226075 / 206057K :11203008| 80
FORD 85417226006 / 81417226012
3U27-5580-PA 126580 :11261007| 87 81417226058 / 85417226007 / 206058K :11203009| 80
3U27-5580-AA 11261011 87 85417226013 / 85417226024
3U27-5580-BA 11261012 87 MERCEDES
GRAMMER A 9428902919 / 9428902919 205001K :11202001| 78
140214 125106 11240006/ 90 A 9428900219 / 9428906019 /
127678 / 1028369 125120 :11240009 A 9428900219 / 9438900219 / 206001K i11202003| 78
132908 / 1189933 125908 (11240022 91 A 9438903919 / 9438903919
140214 /1189932 125214 :11240019| 92 A 9428905219 / 9428905219 207001K i11226010| 78
1109826 / 1189934 125826 :11240021| 92 A 9428905319 / 9428905319 /
ISRINGHAUSEN A 9428905919 / 9428905919 / 208001K i11202010| 78
3.1396 125102 11240002/ 90 A 9438903819 / 9438903819
3.3207 125103 :11240003| 90 A 9428906119 / 9428906119 206119K :11202005| 78
3.1390 125104 11240004 90 A 9428906919 / 9428906919 206919K i11202006| 79
38570/36879 125112 :11240008| 90 A 9428907019 / 9428907019 207019K 11202009 79
27403-1 125122 11240011 90 A 9428904919 209001K 11202013 79
IVECO MILSCO
41019150/ 8169050 /41015530 |121055 :11225001| 82 07067 A 127108 11229014 96
41028764 / 41028763 / 128010K 11205001/ 82 NATIONAL SEATING
500377878 / 500348793 2112283 127055 :11240031|99
500379698 / 500307338 / 2123403 127070 111240042| 99
99438514 / 99455937 / 128011K :11205003| 82 324662-01 127058 11240049 101
500352808 / 98472734 324663-01/ 328035-01 / 329666-01] 127059 :11240050| 101
500357351 128012K :11205005| 83 PETERBILT
500340705 128013K :11205008| 83 29-03200 127036 11229007 96
500340706 128014K :11205010| 83 29-06016 127093 :11229036| 97
504060233 128015K $11205012| 83 20-16754 126754 11229037/ 98
500357352 128016K :11205014| 83 20-19036 127155 :11229039| 98
504060241 128017K :11205016| 84 PILOT
KNOEDLER HYAQ005 125101 11240001 90
9212 127040 11240026/ 99 HYA006 125128 1124003791
100095 - 000 127152 11240032 99 HYA008 125129 :11240035| 91
LINK MANUFACTURING LTD RENAULT
1102-0043 127056 :11229009| 93 5010228908 A / 5010228908 / 228908K :11204004| 80
1101-0020 127031 :11229006| 93 5010228908 B / 5010228908 C /
1102-0021 / 1102-0040 127012 i11229005| 93 5010316783 A /5010269674
1102-0022 127046 :11229008| 93 5010615879 228879K :11204002| 81
1102-0045 / 1102-0047 127074 :11229010| 93 5010130797 G 121051 $11224001| 81
1102-0071 127024 :11229047| 94 5010629414 121414 11224017/ 81
1102-0030 127106 :11229025| 94 5010133079D 121079 1122401481
1102-0042 127045 :11229026| 94 5010092916 E 121053 111224006/ 81
1102-0027 127098 :11229027| 94 5010266845 A /5010313619 A 121054 11224008 81
1102-0070 127049 11229052 102

LIKRAFT



OEM REFERENCES

OEM REFERENCE

| Reference | Order No [PageNo

OEM REFERENCE | Reference | Order No [PageNo
5010552241 / 7420898055 / 228893K 11204003 | 82
7482052893
5010228849 228849K 11204001 | 82
5010491301 121086 i11224015| 82
5010320096 A 121052 11224004 |82
5010 455 628 B 127115 1127100189
SCANIA
1348121 /1314278 121101 1221004 |76
1349840 121201 11221007 (76
1476415 /1381919 121202 i11221011(76
1424231 121207 $11221015(76
1502468 / 1502471 121208 1122101876
1444016 121209 i11221021(76
1348121/1314278 ( Only bellows )

370227 / 393257 / 550365 /

1116535/1117320/1117334

1331620/ 1331621 / 1331634 / 101169K 11201001 76
1331635 /1348117 / 1348119/

1348120/ 1177326 / 1331626 /

1348118 /1348211 / 1348477

1349840 ( Only bellows ) / 1424228 /|201180K :11201011|77
1363122 / 1397396 / 1381904

1349840 ( Only bellows ) / 1382827 /|201181K i11201013| 77
1424229 [ 1349844

1476415 /1381919 ( Only bellows ) /{202186K :11201016| 77
1381904 / 1397400 / 1435859

1476415/ 1381919 ( Only bellows ) /

1435856 / 1382826 / 1391906 / 202187K :11201019| 77
12382829

1424231 ( Only bellows ) / 1505563 /|128001K :11201003| 77
1502470/ 1502471 / 1502472 /

1502474 [ 1595642

1502468 / 1502471 ( Only bellows ) /{128002K i11201006 | 77
1502474

1444016 ( Only bellows ) / 1424227 |

1363120 /1397396 / 1397390/ 128003K 11201009 77
1397392 /1397386 / 1397388

1444016 ( Only bellows ) / 1505563 /

1495642 / 1502470 / 1502471 / 128004K :11201010| 77
1502472 [ 1502474 | 1595642

486985 127115 1127100189
1424231 | 1424227 /1363120 /

1397386 / 1397388 / 1397390 / 128005K :11201025| 78
1397392

SEATS

707338 127040 11240026 | 99
SEARS / DURAFORM

S13384 127150 1124002999
S9383 / S-20235 127035 11240023 |99
58645 127041 1124003099
553883 127040 :11240026| 99
59383 / S-20235 127061 $11240043|99
VOLVO

3172984 /1629719 / 1629724 128020K :11206001 |84
20427897 / 20721169 / 20889134 /

20775212 /21651231 /1076855 / |128021K 11206004 | 84
20721167 /20736464 / 3172985 /

3198850

1075076 / 1075077 128022K 11206007 | 84
20453256 / 20399204 / 20423558 / 121059 11226001 |85
20889132 /21111932 /3198837
20453256 / 20399204 / 20453258 / |128023 11206010 | 85
20889132 /21111932 /3198837

20453256 / 20399204 / 20453258 /|128024 11206013 85
20889132 /21111932 / 3198837

20534645 126045 111260002 | 86
20534646 126046 11260003 | 86
1081785 / 20455245 / 20494458 ~ [126001 :11260001 | 86
21165207 / 20462622 / 8074629 125171 :11226009| 96

LNIIKRAFT






CROSS REFERENCE

| Reference | OrderNo |PageNo

CROSS REFERENCES

CROSS REFERENCE

| Reference |OrderNo [PageNo

ARVINMERITOR

908322985 128013K  i11205008| 83
908322986 128014K  :11205010| 83
928323140 128015K  i11205012| 83
CONTITECH

S736-10 228908K  :11204004| 80
SZ50-9 121051 11224001 81
SZ50-9-P02 121414 11224017| 81
SZ50-6 121079 11224014| 81
SZ50-8 121053 11224006 81
SZ50-10 121054 11224008 81
SK 86-10 121086 11224015 82
816-7 121052 11224004 82
S7130-25 P04 126045 11260002| 86
S7130-25 P05 126046 11260003| 86
SK95 - 26 126001 11260001 86
SZ35-11 127201 11270001 89
SZ50-11 127202 11270002| 89
SZ70-11 127203 11270003| 89
S711-5 127115 11271001 89
SZ59 -7 125112 11240008| 90
SZ51-7 125101 11240001| 90
SZ60 - 6/ 8647 125102 11240002| 90
8262 -7 125103 11240003| 90
8657 / 937N 125104 11240004 90
SZ51-6 125106 11240006/ 90
SZ51-5 125121 11240010| 90
S782-8 125122 11240011 90
SZ51-10 125125 11240015| 91
SZ51-9 125130 11240017{91
SZ50-7 125131 11240018 91
8187 125908 11240022| 91
SZ51-6 125214 11240019| 92
S792-6 125826 11240021 92
SC29-Y082 / SZ70-8082 127082 11229024 93
SC29-0046 / SZ70-5060 P02 127046 11229008 93
SC29-W087 127087 11229013| 94
SC29-0086 / SZ70-5052 127086 11229030| 95
SC29-0001 / SZ70-5067 127001 11226010| 95
SC29-WQ75 / SZ70-7077 127075 11229032| 95
SC29-Y064 / SZ70-8077 127064 11229033| 95
SC29-B092 / S270-9087 127092 11229049 95
SC29-Y108 / SZ70-8077 P02 127108 11229014/ 96
SC29 - YGO1 125010 11229002| 96
SC29 - Y036 127036 11229007) 96
SC31 - Y205 127205 11229017) 97
SC31 - W206 127206 11229018/ 97
SC31 - B207 127207 11229019 97
SC31-Y215 127215 11229020 97
SC29-B200 / S770-9102 127200 11229040/ 97
SC29-0201 / SZ70-5072 125072 11229038/ 97
SC29-W035 / SZ70-7065 P02 127035 11240023| 99
SC29 - B152 / SZ70-9065 P02 127152 11240032| 99
SC29 - W035 / SZ70-7065 P02 | 127061 11240043/ 99
SK-68-15-P01 11261013 87
SK-68-10-P01 11261014 87
SC29 - 0100/ SZ70-5075 P02 | 127100 11229053| 102
SC29 - W103/S770-7077 P02 127103 11229034/ 102
FIRESTONE

W02-M58-8000 121101 11221004 76
W02-M58-8005 121201 11221007| 76
W02-M58-8002 121202 11221011/ 76
W02-M58-8008 121207 11221015| 76
W02-M58-8010 121208 11221018 76
W02-M58-8001 101169K  111201001| 76
W02-M58-8006 201180K 111201011 77
W02-M58-8007 201181K  :11201013| 77
W02-M58-8003 202186K  111201016| 77
W02-M58-8004 202187K  i11201019| 77

OIXKRAFT

W02-M58-8009 128001K 11201003 | 77
W02-M58-8014 205001K 111202001 | 78
W02-M58-8015 206001K 11202003 | 78
W02-M58-8017 207001K 11202007 | 78
W02-M58-8018 208001K 111202010 |78
W02-M58-8020 203001K 11203001 | 79
W02-M58-8021 204001K  i11203003 | 80
W02-M58-8034 228908K 111204004 | 80
W02-M58-8035 121051 11224001 | 81
W02-M58-8035 121414 11224017 | 81
W02-M58-8032 121079 11224014 | 81
W02-M58-8030 121053 11224006 | 81
W02-M58-8031 121054 11224008 | 81
W02-M58-8033 121052 11224004 | 82
W02-M58-8028 128010K 11205001 | 82
W02-M58-8029 128011K 11205003 | 82
W02-M58-8022 128012K  i11205005 | 83
W02-M58-8025 128013K  :11205008 | 83
W02-M58-8026 128014K  :11205010 | 83
W02-M58-8027 128015k  i11205012 | 83
W02-M58-8023 128016K  :11205014 | 83
W02-M58-8024 128017K  :11205016 | 84
W02-M58-8036 128020K  :11206001 | 84
W02-M58-8037 128021K  :11206004 | 84
W02-M58-8038 128022K  i11206007 | 84
W02-358-7007 127007 11229004 | 93
W02-358-7017 127017 11229023 | 93
W02-358-7056 127056 11229009 | 93
W02-358-7031 127031 11229006 | 93
W02-358-7012 127012 11229005 | 93
W02-358-7082 127082 11229024 | 93
W02-358-7046 127046 11229008 | 93
W02-358-7074 127074 11229010 | 93
W02-358-7087 127087 11229013 | 94
W02-358-7024 127024 11229047 | 94
W02-358-7106 127106 11229025 | 94
W02-358-7045 127045 11229026 | 94
W02-358-7098 127098 11229027 | 94
W02-358-7044 127044 11229048 | 94
W02-358-7081 127081 11229012 | 94
W02-358-7083 127083 11229028 | 94
W02-358-7079 127079 11229029 | 95
W02-358-7086 127086 11229030 | 95
W02-358-7080 127080 11229031 | 95
W02-358-7106 127106 11229025 | 94
W02-358-7045 127045 11229026 | 94
W02-358-7098 127098 11229027 | 94
W02-358-7044 127044 11229048 | 94
W02-358-7081 127081 11229012 | 94
W02-358-7083 127083 11229028 | 94
W02-358-7079 127079 11229029 | 95
W02-358-7086 127086 11229030 | 95
W02-358-7080 127080 11229031 | 95
W02-358-7001 127001 11226010 | 95
W02-358-7075 127075 11229032 | 95
W02-358-7064 127064 11229033 | 95
W02-358-7092 127092 11229049 | 95
W02-358-7110 127110 11229016 | 95
W02-358-7116 127116 11229050 | 96
W02-358-7108 127108 11229014 | 96
W02-358-7109 127109 11229015 | 96
W02-358-7036 127036 11229007 | 96
W02-358-7205 127205 11229017 | 97
W02-358-7206 127206 11229018 | 97
W02-358-7207 127207 11229019 | 97
W02-358-7215 127215 11229020 | 97
W02-358-7093 127093 11229036 | 97
W02-358-7200 127200 11229040 | 97
W02-358-7204 127204 11229041 | 97




CROSS REFERENCE

| Reference |OrderNo |PageNo

CROSS REFERENCES

CROSS REFERENCE

| Reference | OrderNo [PageNo

154-175 127086 112290301 95
185 - 157 127075 11229032 95
185 - 057 127064 11229033] 95
1S5 - 057 127108 112290141 96
1S5 - 005 125005 11229001 96
185-010 125010 11229002 96
1S5 - 045 125045 11229003| 96
1585-171 125171 11226009| 96
1545-121 127035 11240023 99
MONROE

CB0030 /717262725 121202 11221011| 76
CB0074 121208 11221018| 76
P2A7C006 / 01764029 121010 11221001| 76

CB0030/CB0010 / 717262725

202186K  :11201016| 77

CB0030/CB0009 / 717262725

202187K  111201019| 77

CB0074 /717262778 128002K 11201006 77
CB0075 121051 11224001 | 81
CB0082 121053 11224006| 81
CB0083 121054 11224008| 81
20889055 228893K  :11204003| 82
CB0070 /69849 228849K  i11204001]| 82
CB0076 121052 11224004 | 82
CB0077 121055 11225001 | 82
CB0003 / 717269833 128020K 111206001 84

CB0006 /717269647

128021K 11206004 | 84

CB0002 /717269602

128022K  :11206007| 84

W02-358-7201 125072 11229038 97
W02-358-6754 126754 11229037 98
W02-358-7155 127155 11229039 98
W05-372-2078 126580 11261007 | 87
W02-358-7150 127150 11240029 99
W02-358-7035 127035 11240023 99
W02-358-7041 127041 11240030 99
W02-358-7040 127040 11240026 99
W02-358-7070 127070 11240042 99
W02-358-7055 127055 1124003199
W02-358-7152 127152 11240032 99
W02-358-7061 127061 11240043/ 99
W02-358-7042 127042 11240044100
W02-358-7029 127029 11240045 100
W02-358-7073 127073 11240046 | 100
W02-358-7054 127054 11240033 100
W02-358-7043 127043 11240027 100
W02-358-7038 127038 11240024 | 100
W02-358-7037 127037 11240047 | 100
W02-358-7067 127067 11240034100
W02-358-7085 127085 11240048 101
W21-760-7076 127076 11229011101
W02-358-7049 127049 11229051102
W02-358-7100 127100 11229053 | 102
W02-358-7103 127103 11229034102
W02-358-7032 127032 11229054 [ 102
W02-358-7058 127058 11240049 101
W02-358-7059 127059 112400501 101
W02-358-7149 127149 11229051102
W21-760-9000 11261013 87
W21-760-9001 11261014 | 87
W21-760-9001 112610151 87
GOODYEAR

1AS-004 121101 11221004 76
1AS-005 121201 11221007 | 76
1AS-001 121202 11221011{ 76
1AS-005 121207 11221015( 76
1AS-006 121208 1122101876
1SA-036 101169K  i11201001| 76
15A-031 201180K 1120101177
15A-032 201181K 1120101377
1SA-006 202186K 1120101677
15A-005 202187K 1120101977
15SA-040 128002K 111201006 77
1SA-AS014 205001K 1120200178
1SA-AS015 206001K 1120200378
1SA-AS021 207001K 1120200778
1SA-AS 017 203001K 1120300179
1SA-AS 016 204001K  :1120300380
1SA-AS 013 228908K 1120400480
1AS-007 121051 11224001 | 81
1AS-007 121414 11224017 81
1AS-010 121053 11224006 | 81
1AS-011 121054 11224008 81
1AS-008 121052 11224004 | 82
1AS-009 121055 11225001 | 82
1SA-AS 019 128010K 111205001 | 82
1SA-AS 018 128011K 11205003 | 82
1SA-AS 003 128020K 11206001 | 84
1SA-AS 004 128021K 111206004 | 84
1SA-AS 002 128022K 11206007 | 84
1SA-AS 009 128033K 11207001 |85
1SA-AS 010 128034K 111207002 |85
156 - 067 127007 11229004 | 93
154 - 007 127031 11229006 | 93
154 - 008 127012 11229005 93
155-040 127087 11229013 94
155-038 127081 11229012 94

CB0055 121059 11226001 | 85
CB0055 + CB0039 128023K 11206010 85
CB0055 + CB0039 128024K 111206013 85
CB0033 128033K  :11207001| 85
CB0034 128034K  i11207002| 85
PIRELLI

GC 130-30 121055 11225001 | 82
PHOENIX

1C39A-245 121010 11221001| 76
€ 075185 121051 11224001 | 81
€ 091340 121052 11224004 | 82
2C-93/144-363-1 126580 11261007 87
SACHS

481002 121101 11221004 76
557001 121201 11221007| 76
310619 121207 11221015| 76
312465 121209 11221021| 76
105831 + 481002 101169K  :11201001| 76
290988 / 557001 + 105872 /

557001 + 290201 / 290203 201180K  i11201011| 77
557001 + 105873/

557001 + 290989 201181K (11201013 77
310619 + 319620 128001K  $11201003) 77
312465 + 290987 /

312465 + 105871 128003K  :11201009)| 77
312465 + 310620 128004K 11201010 77
310619+290987 128005K  :11201025| 78
105392 205001K  :11202001| 78
105409 /290997 / 311189 206001K 11202003 78
105408 207001K  :11202007| 78
105414 /290998 / 311663 208001K  :11202010| 78
311664 / 731700001830/

731700000920 / 731700000691 206119K  :11202005| 78
731700002549 206919K 11202006| 79
731700002547 207019K 11202009] 79
721700003575 209001K 11202013| 79
105855 203001K 11203001 79
105856 204001K 11203003| 80
135194 /135196 / 313181 206014K 11203005| 80
135195/135197 / 313182 206015K 11203007 80
135198 /313183 206057K 11203008| 80
135199 /135200/ 313184 206058K 11203009| 80

LIKRAFT



CROSS REFERENCE

| Reference |OrderNo |PageNo

CROSS REFERENCES

CROSS REFERENCE

| Reference |OrderNo |PageNo

131041 /310957 228908K 1120400480
313072/ 23576537 /

781700002201/ 781700001622

781700004038 228879K 1120400281
115743 128010K 1120500182
115731 /115902 128011K 1120500382
310820 128012K 1120500583
310821 128016K 11205014(83
311884 / 731700000277 /

731700002845 128017K  i1120501684

B ATKRAFT









